- HANDLES, PULLS & KNOBS



n n
310 SUGATSUNE
n n
(7)) . Center to ) Center to
8 Picture Iltem No. Center Page Picture ltem No. Center Page
> ; : 9-20/64"~ o @ 2-23/64"~
S ey | MDHL o o/e 314 H-75-C v nonjeon 327
o — _9/1@n ) ;
7)) . _ MDH 79/16,,” 315 LF-12 @ 8-25/82 o827
9 - 47-1/ 6-19/64
|
: i STAINLESS 1 8_1 7/64 L _ STAINLESS 6_1 9/64 "o
o MP-500, 750, 1000 |316| - <0 316 XL-JS 316| “oTan,. 328
(’5\ STAINLESS - "o
1T RH-760 29-59/64" 316 XL-JSR 316| A~ g8
| steet)  5-1/32
fa) = = ~
2 11-13/16"~ 2 2-61/64"~
< . M o358" OV { ECH 11-1316 92
I
! o = APH 11;3/1/6~ 318 . XL-CU @ 212;7/13}? 329
ﬁ 3-5/8 ¢ -
a . 12-7/16"~ 2-3/4"~
= T S 2831160 19 XL-CUR 53364 20
13-3/16"~ i @ 2-33/64"~
SOR . 319 DL . 330
27-61/64 . — 5-43/64
A .
TBH 4-21/64" 320 ¢ ¢\ DS @ 3??;/16;432,, 330
] [COMPONENT -
_ 12-13/64"~ i 358"~
¥ T SBH o320 EC @ . 330
27-61/64 r oo 6-25/32
-~ _~ 5-1/16"~ ¥ 3-7/32"~
SYH 81316 321 y FB 4-23/32" 33
4-39/64"~ % 63/64"~
B CoH T 321 “A KB @ ., 331
5-29/64 s o 3-11/32
18- 7
SJH . 322 KS 3"~4" 331
6-19/64 [COMPONENT
STAINLESS
KC-S 316 3-1/2'-6" 332
comronen  (STEEL
Picture tern No Center to Page KC-R @ s:TBN:‘ILES(-Ss 3-1/2"~6" 332
’ Center 9 fcomponent  \STEEL)
- L STAINLESS
KK-H 4253{;132" 323 EK-S @ 316 3-1/2"-6" 332
= comronen  (STEEL
- L STAINLESS
KK-M 23/;" . 323 EK-R @ 316 3-1/2'-6" 333
4-23/32 fcomongr | STEEL
SGH-200 6-7/8" 324 16 SERIES 32'5_55//3126[ 340
@ STAINLESS . 3-25/32"~
1 swp | | 316 3'-4 325 27 SERIES o3.5/16" 40
SWF @ 316 4'-12' 325 DIH 3-25/32" a4
sie 23-5/16
STAINLESS . 6-19/64"~
H-42-F14 316|  3-5/32 325 KPH 11-11/30" 348
r H-42-C @ 2-23/64"~  gog - 40 SERIES S1/32 - 343
i feomponei 11-11/32 ¥ 7-9/16
@ 1-37/64"~ 3-25/32"~
A & 11-11/320 326 30 SERIES 79116"  34
< H-75-BL-100 @ 3-15/16" 326 50 SERIES S;QS%.T 344
s B
® @ 3-15/32"~ 6-19/64"~
| HK saear 327 82 SERIES 121930 345
www.sugatsune.net LAMBP 1-888-557-5267 (U.s.A. only)

by SUGATSUNE



SUGATSUNE 311

) Center to . Center to —
Picture Item No. Center Page Picture Item No. Center Page %
3-25/32"~ 3-15/16"~ m
26 SERIES @ . 346 KMH . 342
o 54-13/16 5-29/32 >.<
3-25/32"~ X
28 SERIES 45164 346 >
S
3-25/32"~
70 SERIES 10-19/30" 346 Picture ltem No. Page I'IFI
_U)
SAZ 4-1/64" 347 XLA-HH 348 o
=
2-11/64"~
: 936 SERIES 3-61/64" 347 HH-M 348 5
f Q0
3-25/32"~
XLA-HA 12-19/32" 347 HH-PS99 349 =
S
HH-P 349 [w3]
w»n
Picture Item No. Center to Page ﬁ UP-600 349
Center
4-23/32"~ @
EC-Y 6-11/16" 333 AT-100 . 350
. N @ STAINLESS 5-29/32"~ @
£ § MG ‘ | gl':EGL 11-13/16" 333 A0 [comPoNERT %0
STAINLESS - L
2LC @ 316 2 33/64,, 334 ATS-100 @ 350
STEEL 7-3/32 conpoNE
r = g 2-33/64"~ )
| 2LC-TI 5.1/32" 334 HH-JS 351

STANLESS 4-9/64" ~
3LC g_!EGL 4-59/64" 334 HH-JW 351

3 STAINLESS _ n_
F = 4c @ 316| 238064~ 45 UTA-105 352
o STEEL 6-19/64
= us @ 218"~ 435 HH-AS2TI 353
. — 5-33/64
ra EC-H @ 471820 435 5103 353
[ComPONENT 5-45/64
>l FT-110S 4-21/64" 336 HH-KL160 @ 354
4 [comPoNENT
— FT-65, 80, 100 @ 214 a3 HH-KP150 @ 354
é o 3-15/32 o
4 - FT-120, 150 @ 4'11/64{ 336 HH-FB, HH-FC @ 354
. 5-3/16 [ComPoNERT
STAINLESS - " STAINLESS
" FT-200, 280 @ 316| 65764~ 44 HH-D @ 316| 355
‘ . (stEeL 9-31/32 oo (STEEL
STAINLESS — L
FT-5280, 370 @ 3q6| (2882~ 44 uT @ 355
STEEL 10-29/32 ComponERT
MH-P120 3-15/16" 338 SP 355
MH-P170 5-29/32" 338 HH-AS2 @ 356
[comPONENT
4-1/4"~
FT-R saaea 339 HH-AS3 356
STAINLESS - LD
FTT 316| 32982~ 449 ES @ 356
STEEL 6-59/64 GompoNEHT
3-21/32"~
MJH sogmon 341
www.sugatsune.net LAMBP 1-888-557-5267 (U.s.A. only)

by SUGATSUNE



312

SUGATSUNE

E’n, Picture Iltem No. Page Picture Item No. Page
o STAINLESS
Z HH-KS 316| 357 3261, 3262 SERIES 365
4 | | (smEeL
w STAINLESS STAINLESS
(7)) HH-DS 316| 357 HCT-150 316| 366
- | STEEL STEEL
- |
§ SS
2 HH-K @ 316| 357 = MUD-140 366
o STEEL - i
(72]
H SD-160 358 TMU-115 367
(]
E UTZ-130 358 PT-148 367
I
1
HH-P135 358
x
a
2 RP 359 Picture Item No. Page
-
, OP-150 359 CU-L-35 368
HN 359 RS-38 @ 368
- COMPONENT
3511, 3512 SERIES 360 Ll RSS @ 368
2 [COMPONENT
3922 SERIES 360 EY-127 369
YK-70 360 EY-207 369
' 3 3
) YK-W100 361 " EY-301 369
DR 361 EY-320 370
pr STAINLESS
& _ RD 316| 361 EY-326 370
Fo STEEL
SN 362 EY-327 370
- SND @ 362 EY-338 371
e
DSI-350 362 EY-339 371
STAINLESS
26700 316| 363 A SERIES 371
STEEL
STAINLESS
26900 316| 363 PK-03 372
STEEL
i STAINLESS
) 26901 316| 363 KK-T 372
/ STEEL
980643 364 KK-B 372
980641, 980642 364
980640 364
TO 365
www.sugatsune.net LAMBP 1-888-557-5267 (U.s.A. only)

by SUGATSUNE



SUGATSUNE 313

Picture Item No. Page
-‘-ff' ¥ ST-90, 115 @ 373

-
= ST-80, 100 @ 373

o
@ P HR 374
HR-R 374

=
(&)
Y
X
I
>
=
(&)
-
m
»
T
(=
-
-
»
Qo
=
=
o
W
7

www.sugatsune.net LAMD 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



314

SUGATSUNE

LARGE HANDLE (W/LATCH) MDHL

¢ Sliding door handle with latch function.
e Latch releases when the door is pulled.

(7)) ¢ Flexible design options by selecting pipe &
[a4] bracket parts separately.
o
E _
o3 T R R oo
MDHL-BFTL MDHL-BFTR ,,_bé
9 [W/O latch] [W/O latch] 3 4411 ﬁ; !
- opening ditection MDHL-BSNL | MDHL-BSNR opening direction ¥ —
D € — 2 : 6 1 g "
o B, | B, i :
- MDHL-BFTR MDHL-BFTL @' C-C Section
w [w/g latch] [W/O latch]
LLl MDHLBFNR | MDHL-BENL 0] &
| SeEN A
(a] Bracket Installation O j f‘;
=z
< H
I < % [+t 32
Min. 25 27 Door Bracket i
] Front Frame Front MDHL-BFTR /G)
= ol c ce T i
L g3 L L
(&) 7 =1 !
E 4457 - - (3-3/%5“)
9 enncl
_| Door  Frame = L j; f wirh Bracket MDHL-BF model (Off-Set)
\ T Tl N
Iy T Tt ]
E LGJ IGJ 35'% 35'% e I
w o8 pin/ <41l oo
| _rose éﬁ
n Door Cut Out Dimensions Frame Cut Out Dimensions Das il‘i ‘”\g;*
< = —
< T
v 4
m 2 B-BSection V6. Denth 1
0 50 - M6, Depth
Q<: No. Part Name Material Finish £ é 1 °
- v Base Zinc Alloy e
® Arm Matte Chrome
® Latch Hook Steel
@ Rotary Parts A ) Bracket
Zinc All .
® Rotary Parts B inc Alloy ] MDHL-BSTR
- Plain B [ B
® Screw Stainless Steel i oy i :
@ Cap Polyacetal Black = © 58057
Item No. Bracket Material Finish L (Pipe Length) A (Hole Pitch) Backet and Pipe Combination
MDHL-SPS240 200( 7-7/8" ) 240 (9-29/64" ) wirh Bracket MDHL-BS model (Straight)
MDHL-SPS340 300 (11-13/16") 340 (13-25/64")
MDHL-SPS440 ) . 400 ( 15-3/4" ) 440 (17-21/64")
——————— 4 Stainl teel t
MDHL-SPS540 304 Stainless Steel | Satin |5 "~ /am) 540 (21-17/64")
MDHL-SPS640 600 ( 23-5/8" ) 640 (25-13/64")
MOS0 o 3 0e e
MDHL-SPC340 i 300 (11-13/16") 340 (13-25/64")
—MDHL-SPC440 | Reinforoed Polymer | Black | 200 (15-0/4") | 440 (17-21/64'
MDHL-SPC540 (CFRP) y 500 (19-11/16) 540 (21-17/64")
MDHL-SPC640 600 ( 23-5/8" ) 640 (25-13/64")
MDHL-SPC740 700 (27-9/16") 740 (29-9/64")
MDHL-FPS240 225 (8-55/64") 240 (9-29/64")
MDHL-FPS340 325 (12-51/54") 340 (13-25/64")
MDHL-FPS440 . . 425 (16-47/64") 440 (17-21/64")
MDHL-FPS540 304 Stainless Steel | Satin |5 5 43/64") 540 (21-17/64")
MDHL-FPS640 625 (24-39/64") 640 (25-13/64")
MDHL-FPS740 MDHL-BF tvoe 725 (28-35/64") 740 (29-9/64") Item No. Latch
MDHL-FPC240 yp 225 (8-55/64" ) 240 (9-29/64" ) MDHL-BSTL W/T Latch
MDHL-FPC340 G T 325 (12-51/54") 340 (13-25/64") MOHL-BSNL w0 Lateh
MDHL-FPC440 Reinforced Polymer Black 425 (16-42/64") 440 (17-21/64") DH :_ BSNR W/O Latch
MDHL-FPC540 (CFRP) 525 (20-43/64") 540 (21-17/64") MBQE_SELLL W% II__atcr;1
T MDHI .EPCRZO | W W - atc
MDHL-FPC640 625 (24-39/64") 640 (25-13/64") MDHLBETR WT Ltk
MDHL-FPC740 725 (28-35/64") 740 (29-9/64") MDHL-BENR W/O Latch
www.sugatsune.net LAM p@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE 315

LARGE HANDLE MDH

o

>

* Flexible design options by selecting pipe & =z

bracket parts separately. O

¢ Pipe can be cut to desired length. r-

e CFRP material is coated using a special light m

weight UV Beam. _(n

5

c

r-

o r-
g 7]
3 20
A

pd

o

o)

(7))

4
IR ri=t) 47
= [ o [mE
2 0 5 || s
[} 32 Sl .
2 | o ST ey 2
o . ) i
= Pipe o || i
o = . | Pipe
Sl Sl m
= ;rL; I
L‘, 2 ]:fg >
e ) e3 Z
— O
-
MDH-BF MDH-BS m
(V7]

Bracket
MDH-BS

Bracket
MDH-BF

\Fixing parts

Bracket
MDH-BF

Item No. Parts Weight (g)
MDH-BS Bracket (Straight) 1010
MDH-BF Bracket (Off-set) 1122
No. Part Name Material Finish/Color
©) Bracket (Straight)
@ Bra'cll<et (Offset) Zinc Alloy Matte Chrome
® Fixing Parts
@ Cover Polyacetal
® HEX set screw M8x15 Stainless Steel Black
® HEX set screw M8x8 Plain
Item No. Material Finish L (Pipe Length) L, L, P Weight (g)
MDH-PS192 177 (6-31/32") 256 226 192 ( 7-9/16" ) 384
MDH-PS350 335 (13-3/16") 414 384 350 (13-25/32") 727
MDH-PS500 304 Stainless Steel Satin 485 (19-3/32") 564 534 500 (19-11/32") 1050
MDH-PS800 785 (30-29/32") 864 834 800 ( 31-1/2" ) 1700
MDH-PS1200 1185 (46-21/32") 1264 1234 1200 ( 47-1/4" ) 2570
MDH-PC192 177 (6-31/32") 256 226 192 ( 7-9/16" ) 70
MDH-PC350 335 (13-3/16") 414 384 350 (13-25/32") 132
MDH-PC500 Carbon Fiber Reinforced Polymer (CFRP) Black 485 (19-3/32") 564 534 500 (19-11/32") 191
MDH-PC800 785 (30-29/32") 864 834 800 ( 31-1/2" ) 309
MDH-PC1200 1185 (46-21/32") 1264 1234 1200 ( 47-1/4") 467

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



S140ddns ail I g‘.:

]
>
(@)
m
|
)
>
=
m
o)
X
>
(@)
A
m
—
»

FACE FRAME BRACKET

.

|-

-] =
¢

s SR

v

|
-
VL
{

F-"

SUGATSUNE

FACE FRAME BRACKET

www.sugatsune.com

id FFCB-HG-1

STAINLESS

* Works with items below on face frame cabinets:
- LIN-X
- 304B Hinges (with 304B-P4A-32)
- 230 Hinges (with 230-P4W-32T)
¢ Sold per piece.
¢ Please specify the quantity of brackets necessary when ordering:
1 bracket is needed for each arm (LIN-X) or hinge (304B, 230).

5.4 Goes)
4 : ! 2xM4
g i
S , 5 |g
HEL? 88 o — = gl o555 8l
s e R
i o -
=) 251 |
I - B
! I
8- i 3.8~ | ‘ ‘
=l 138 sl 9
. 283
NEGEL2)

\\ 3.3

Material Finish

304 Stainless Steel Polished

Y

FFCB-SLS

¢ Works with SLS-ELAN Series on face frame cabinets.

¢ Sold per piece.

¢ Please specify the quantity of brackets necessary when ordering:
1 bracket is needed for each stay.

176
(6-5/16")
17 135
(21/32") = (5-5116")
95
9 (/8"
15 Lo A1
(19/32") |
2 |
R \@
w hd
(- ¥ T ~
7 =~ = Iy g
& —— '73'5) ¢ BY 2o p - — - — el
l # §7e 1t <
o It |
ar [
i @ S
&7 M4x0.7
D |

by SUGATSUNE

(2-3/4")

Material Finish

Steel Chromate

1-800-562-5267

(U.S.A. Only)



SUGATSUNE

LARGE HANDLE (ALUMINUM PIPE)

MTH-T300

MTH-T450

MTH-T600

43 mm
(1-11/16")

MTH-L

317

MTH

I

>

¢ Aluminum handle with different length options P

for various applications. w

¢ Can be cut to custom fit applications. -

m

w

U

Cc

r

-

(7))

Qo

A

73 mm Z

(2-7/8") (@)

vs)

777777 7]
MTH-T

0
(o]
m
I
>
= 2
Y O
<t T r
N — o
2 | w
[S— He——
Hi M8 Depth23

No. Part Name Material Finish/Color

® Bracket Polyamide Black

) Pipe Aluminum Alloy Anodized

® Screw 5x12 Steel Yellow Zinc Chromate
@ Nut Brass -

Item No. |Load Capacity (kgf) L L2 Ls P Hi Ha Hs Weight (g)
MTH-L300 360 (14-11/64") | 352 (13-55/64") | 320 (12-19/32") | 300 (11-13/16") 1 . i 360
MTH-L450 510 (20-5/64") | 502 (19-49/64") | 470 ( 18-1/2" ) | 450 (17-23/32") (2-29/32") (2_7/52..) (1-11/16" 445
MTH-L600 51 (12lbs) 660 (25-63/64") | 652 (25-43/64") | 620 (24-13/32") | 600 ( 23-5/8" ) 530
MTH-T300 360 (14-11/64") | 352 (13-55/64") | 320 (12-19/32") | 300 (11-13/16") -~ G5 — 430
MTH-T450 510 (20-5/64") | 502 (19-49/64") | 470 ( 18-1/2" ) | 450 (17-23/32") (4-3/32") (3—23}64") (2-7/8" ) 515
MTH-T600 660 (25-63/64") | 652 (25-43/64") | 620 (24-13/32") | 600 ( 23-5/8" ) 600

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)



318 SUGATSUNE

LARGE HANDLE (ALUMINUM PIPE) APH

¢ Aluminum pipe handle with 4 different pipe
lengths.
¢ Aluminum pipe can be cut to desired length.

08.4, 016

R

\

925

}
A

(&
7
N

>

LARGE HANDLES VU [p] RS SV MRS (4 [0] 21

58.7
(2-5/16")
e 32,7 —=
(1°5/16")

44
61
(2-3/8")

i
hiaiL

30— e 30 — |
(1-

(1-174") 174"
L1
A-A Section
Iltem No. L+ L2 P Weight (g)

APH-P300 | 329 (12-61/64") | 268 (10-35/64") |300 (11-13/16")| 139
APH-P400 | 429 (16-57/64") | 368 (14-31/64") |400 ( 15-3/4" )| 153 No. Part Name Material Finish/Color
APH-P500 | 529 (20-53/64") | 468 (18-27/64")|500 (19-11/16")| 168 @ Bracket Polyamide Black
APH-P600 | 629 (24-49/64") | 568 (22-23/64") |600 ( 23-5/8" )| 322 @ Pipe Aluminum Alloy Anodized

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE 319

LARGE HANDLE SSH

I
‘ >
i ¢ |deal in harsh environments and for machinery =z
= applications. O
¢ Designed for applications where a heavy duty r-
handle is required. m
¢ Recommended screw size: M8x1.25 50
U
Cc
r
-
| (7))
o ‘ -J Qo
; A
‘ Z
! o
vs)
7))
—
2-M8 / |
Depth 20

i .
1 >
i t o
0 le7ssl O )
m
Item No. L (o} D1 D2 Weight (g) | Box (pcs) |Carton (pcs) T
SSH-2540 400 (15-3/4") | 316 (12-7/16") 665 >
SSH-2560 600 (23-5/8") | 516 (20-5/16") 19 25 750 10 pd
SSH-2580 800 (31-1/2") | 716 (28-3/16") 840 ) Ig
SSH-3240 400 (15-3/4") | 316 (12-7/16") 1175 m
SSH-3260 600 (23-5/8") | 516 (20-5/16") 25 32 1290 5 Material Finish (7))

SSH-3280 800 (31-1/2") | 716 (28-3/16") 1400 304 Stainless Steel Satin

LARGE HANDLE SOR

* Ideal for machinery applications where
a large handle is required.

(34)

2-M6
Depth 8

Material Finish/Color

Anodized (S)
Black (BL)

Aluminum

Item No. L L (o} H R Weight (g) Box (pcs) Carton (pcs)

SOR-400/S | SOR-400/BL | 390 (15-23/64") 323 | 335( 13-3/16") 350 223 30 300

SOR-600/S | SOR-600/BL | 600 ( 23-5/8" ) | 502 | 522 (20-35/64") | (60)(2-23/64") 790 315 20 200

SOR-800/S | SOR-800/BL | 816 ( 32-1/8" ) | 686 | 710 (27-61/64") 1440 425 15 150

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



320 SUGATSUNE

LARGE HANDLE (STRAIGHT DESIGN) TBH

@ o1 =¢
m el
(@) gl—ls0s
<
X
o3 M8, 16
@ C
= T 7
E |
n - ——— B 25~
LU o Oy
| li ©
(a]
=z

/
T =
(2}
-
Q :0?315*
Z Ry
< TBH-600SL (4-1/16")
I
(l-g Item No. Finish(Bar Handle) L Weight (g)

TBH-400SL Silver
400 (15-3/4" 1300
Q<: TBH-400BL Black ( /4) Part Name Material Finish
| TBH-600SL Silver 600 (23-5/8") 1770 Bar Handle Aluminum Alloy Silver/Black
TBH-600BL Black Bracket Zinc Alloy Black

LARGE HANDLE (OFF-SET DESIGN) SBH

—47.7 —
80
(3-1/8"
Item No. Finish L+ P Weight (g)
SBH-400SL Silver 310
400 (15-3/4" " 893
SBH-400BL Black ( = (12-13/64")
SBH-600SL Silver 510
600 (23-5/8" " 1270 - —
SBH-600BL Black (23-5/8) (20-5/64") Part Name Material Finish/Color
SBH-800SL Silver 710 Bar Handle Aluminum Alloy Silver/Black
800 (31-1/2" " 1647 -
SBH-800BL Black (1-1/2°) (27-61/64") Bracket Zinc Alloy Black
www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE 321

LARGE HANDLE SYH

o
>
* Round handle with a straight edge design line <
to provide machinery with a modern appeal. O
-
m
w
U
c
r-
-
(7))
0
‘ Z
- S SEL 3
o)

1
J;; — m

/@\‘ l -
t 2xM4/M5, Depth 8 T

P

L
SYH-128SL-M5 ;
p)
()
m
o
>
SYH-224SL-M5 Z
O
ltem No. L P H He t t. FI
SYH-128SL-M5 | 165 (6-1/2")|128 (5-1/16")| 30 (1-3/16") | 21 (53/64") 17 9 Material Finish 7))

SYH-224SL-M5 | 264 (10-3/8") 224 (8-13/16")| 32 (1-17/64") | 22 (55/64") 20 10 Aluminum Alloy Silver(Anti-Bacterial coating)

LARGE HANDLE (W/COVER CAP OPTION) CJH

* 6 color options that can be used to separate
work processes or to warn of dangerous areas.
BL GR YE

YR RD BU

Il
€ [ } = Item No. Color Weight(g)
‘ CJHC-117BL Black
i CJHC-117GR Grey
i ( CJHC-117YE Yellow
‘ | ﬁli T CJHC-117YR Orange 4
| i ] CJHC-117RD Red
i \ f CJHC-117BU Blue
i \ CJHC-150BL Black
i p i 28.5,5 CJHC-150GR Grey
L CJHC-150YE Yellow 6
CJHC-150YR Orange
CJHC-150RD Red
CJHC-150BU Blue
Item No. L+ L2 Wi | Wz | Hi | H2 | Hs P Weight(g) Part Name Material Finish
CJH-117 |157 (6-3/16")| 93.0| 22 |17.0| 46 |19.5| 24 | 117 (4-39/64") 67 Handle Polyamide(Glass Filled) Black
CJH-150 |190(7/1/2")|125.5| 24 |[18.5| 52 |21.4| 28 | 150 (5-29/64") 91 Cover Cap Polyamide 6 color options
www.sugatsune.net LAMDP 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



322 SUGATSUNE

LARGE HANDLE (W/COVER CAP OPTION) SJH

* 6 color options that can be used to separate
work processes or warn of dangerous areas.

BL GR YE YR RD BU

LARGE HANDLES VU [p] RS SV MRS (4 [0] 21

P Item No. Color Weight(g)
L1 SJHGC-130BL Black
SJHC-130GR Grey
SJHC-130YE Yellow 15
SJHC-130YR Orange ’
SJHC-130RD Red
SJHC-130BU Blue
SJHC-160BL Black
SJHC-160GR Grey
SJHC-160YE Yellow 1.9
SJHC-160YR Orange ’
SJHC-160RD Red
SJHC-160BU Blue
Part Name Material Finish
Handle |Polyamide(Glass Filled) Black
Cover Cap Polyamide 6 color options
Item No. L1 L2 Wi W2 H1 H2 Hs P Weight(g)
168 26.5 24 43 21 22 130
Sl ( 6-5/8" ) 110 (1-3/64" | (15/16") | (1-11/16") | (53/64") | (55/64") | ( 5-1/8") 76
B 198 28.5 26 49 23 26 160
Sllhiag (7/-13/16") e (1-1/8") | (1-1/32") | (1-59/64") | (29/32") (1-1/32") | (6-19/64") 1k
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



323

SUGATSUNE

HANDLE KK-H

I
>
¢ Antibacterial Coating. P
)
-
m
»
U
c
BL r
-
ho (7))
e Q0
SBR T =
( Z
o
vs)
c 7))
SNI J N Depthi2
Item No. Material Finish/Color L (¢} H Weight (g) | Box (pcs) | Carton (pcs)
KK-HB80SNI Nickel + Antibacterial Coating

KK-H80SSG Satin Gold + Antibacterial Coating 78 70 28 20 §
KK-H80SBR Brown + Antibacterial Coating (3-1/16") | (2-3/4") | (1-3/32") >
KK-H80BL Black (w)
KK-H110SNI Nickel + Antibacterial Coating -
KK-H110SSG Aluminum Alloy Satin Gold + Antibacterial Coating 108 100 29 o5 5 200 IJI’

KK-H110SBR Brown + Antibacterial Coating (4-1/4") | (3-15/16") | (1-9/64")
KK-H110BL Black >
KK-H130SNI Nickel + Antibacterial Coating 5
KK-H130SSG Satin Gold + Antibacterial Coating 128 120 30 30 -
KK-H130SBR Brown + Antibacterial Coating (5-1/32") | (4-23/32") | (1-3/16") a
KK-H130BL Black >
(9]
m

Y

HANDLE KK-M 3
>
-

¢ Antibacterial Coating.

SBR
\\//
T
SSG
Lol
SNI c (678"
L 2-M4x0.7
Depth12
Item No. Material Finish/Color L C H Weight (g) | Box (pcs) | Carton (pcs)
KK-MB8OSNI Nickel + Antibacterial Coating
KK-M80SSG Satin Gold + Antibacterial Coating (3—61;(/)8" ) (2_2(/)4.. ) (1_??/%2..) 20
KK-M80SBR Brown + Antibacterial Coating
KK-M110SNI Nickel + Antibacterial Coating
KK-M110SSG Aluminum Alloy Satin Gold + Antibacterial Coating (4—13}?6") (3—1150/26") (1_92/%4..) 25 25 200
KK-M110SBR Brown + Antibacterial Coating
KK-M130SNI Nickel + Antibacterial Coating
KK-M130SSG Satin Gold + Antibacterial Coating (5113/%.. ) (4_2132/%2..) (1—;/?6") 30
KK-M130SBR Brown + Antibacterial Coating

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)



324 SUGATSUNE

HANDLE

d=]  SGH-200

* SGH-200 is a specially insulated handle designed to reduce
shock from static electricity build-up as well as inhibit bacterial

2 transfer.
¢ Textured, soft handle improves grip in manufacturing
[10] Textured, soft handle i ip i facturi
O environments where lubricants are used, improving conditions
P4 when slippage is a safety concern.
A\ * Un-obtrusive light blue color.
o3 e Suitable for use in environments -22°F to 176°F (-30°C to 80°C).
¢ For use on medical, pharmaceutical, and electronic equipment;
(/)] in educational, institutional, and industrial facilities where
-l limiting transfer of static electricity or bacteria is important to
-l operations.
-
o
(2]
L
-
(a]
2
<
I
|
w - —— - FahY
=l <1 R
=] < Q
Z i o
< ‘ | Re
14
E 1746 N M6, Depth 1"
[ (6-7/8") el e
(2}
- - 200
> (7-7/8") Note: Details provided for this hardware’s properties/
< specifications are for general information only. Grounding
is required to discharge electricity, and shock reduction
is effective only when installed on electrically conductive
surfaces. Safety of a final product or equipment is not
guaranteed when used as a component. This hardware
is designed to reduce — not completely eliminate — shock
from static electricity. Sensitivity to shock may vary.
Properties of Special Elastomer Coating Pathway of Releasing Electrical Discharge
(kv) (kv)
10 10
Insulating Layer
/
// \ // \
Oen [,V%
. Y ® o~ e SHOE
\
\
\
N
0 0
0 10 15 sec 0 10 15 sec . . .y .
In the figures above, a human hand with a positive charge is
Graph A Graph B approaching a conductive surface with a negative charge (e.g.,
Touching a standard metal handle Touching an insulated handle metal). The figure on the right incorporates a layer to insulate
the discharge.

The y-axis represents the natural voltage of the human body (in kiloVolts), and Direct physical contact with a conductive surface
the x-axis represents elapsed time (in seconds). Contact with the hardware (metal, etc.) may result in a discharge of static electricity,
occurs at the 4 second mark. causing discomfort. The insulating coating of the SGH-
200 acts as a buffer to reduce the rate of discharge
and lessen the resulting shock (depicted above). The
elastomer used for insulation incorporates a resin
specially formulated for a specific conductivity.

There is an instantaneous discharge to OkV in Graph A,
compared to a delayed discharge to 1kV over 2 seconds in
Graph B. This would result in a stronger electric discharge and
shock for a metal handle (Graph A) compared to the SGH-200

(Graph B).
Item No. Color Material Weight (g) Box (pcs) Carton (pcs)
SGH-200 Light Blue Base Material: Polyamide; Coating: Special Elastomer 250 20 -

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE

WIRE PULL O O [ E= swp

[COMPONENT]

¢ |deal for harsh and highly corrosive environments.

| L | 08~
|
8-32
‘ c |

Depth 5/16"
Item No. L C H Weight (g) Box (pcs) | Carton (pcs)
SWP-630/S | 84.2(3-5/16")| 76.2( 3" ) 71
SWP-635/S | 96.9 (3-13/16") | 88.9( 3-1/2" ) 34 78 = o
SWP-640/S | 109.6 (4-5/16") | 101.6( 4" ) | (1-11/32") 85 Material Finish
SWP-696/S | 104.0 (4-3/32") | 96.0 (3-25/32") 91 316 Stainless Steel Satin

WIRE PULL © B G E==] swr

[COMPONENT]

¢ Ideal for harsh and highly corrosive environments.

o - b
_— e’ L
."'. . \L-
— — —
| | [} |
N -
w-x_;_ — e — =
C
Iltem No. L C H Weight () Box (pcs) | Carton (pcs)
SWF-640 111.0 (4-3/8") 101.5 (4") 90 160
SWF-650 136.5 (5-3/8") 127.0 (5") o 110 160
SWF-660 162.0 (6-3/8") 152.5 (6") (1-3/8") 130 20 120
SWF-690 238.0(9-3/8") 228.5(9") 200 120 Material Finish
SWF-6120 | 314.5(12-3/8") 305.0 (12") 270 80 316 Stainless Steel Satin

WIRE PULL sie| [0 H-42-F14

STEEL NO SCREW

¢ |deal for harsh and highly corrosive environments.

86
(3-25/64")
% Q
80
(3-5/32")
Iltem No. Weight (g) Box (pcs) Carton (pcs) Material Finish
H-42-F14 25 50 250 316 Stainless Steel Mirror
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE

325

T
>
Z
=]
r
m
L
o
(=
r
rr-
7
2o
X
Z
o)
W
77

ST11Nd 3HIM



3% SUGATSUNE

WIRE PULL g

H-42-C

e H—

WIRE PULL © B H-42-B

[COMPONENT]

(2]
(a1]
2 J\/* &
X - Material Finish
o c " DepthS 304 Stainless Steel Mirror
9 Item No. L H B (¢} S M R Weight (g) Box (pcs) Carton (pcs)
il | H-42-C-8 66 (2-19/32") 22 (55/64") 60 (2-23/64") 18 100 500
6 7 M4 x 0.70 3.0
D H-42-C-14 | 86 (3-25/64") 80 ( 3-5/32" ) X 25 250
o H-42-C-1 75 (2-61/64")| 30 (1-3/16") 7 | 68(2-43/64") M5 x 0.80 3.5 30
d H-42-C-2 109 (4-19/64") 9 |100 (3-15/16") 8 ’ 4.5 65 50
L H-42-C-3 120 (4-23/32") 110 (4-21/64") 100 150
40 (1-37/64" 10 M6 x 1.00 5.0
- H-42-C-4  [130( 5-1/8" ) (1-37/64") 120 (4-23/32") X 105
% H-42-C-15 |162( 6-3/8" ) 150 (5-29/32") 185 30 60
H-42-C-5 [200( 7-7/8" ) 188 (7-13/32") 220
50 (1-31/32" 12 10 M8 x 1.25 6.0
§ H-42-C-6  |250 (9-27/32") (1-31/32°) 238 ( 9-3/8" ) X 265 20 0
H-42-C-7 300 (11-13/16") 288 (11-11/32") 300
(/7]
-l
|
2
o
(1T}
2

No. Part Name Material Finish
0] Handle Mirror
= Washer 304 Stainless Steel —2oned
® Spring Washer )
Plain
@ Nut
Item No. L H1 Ha B C R M Weight (g) Box (pcs) Carton (pcs)
H-42-B-9 46 (1-13/16") 8.5 40 (1-37/64" ) - 15 50
22 (55/64" 500
H-42-B-8 66 (2-19/32") ( ) 7.0 6 60 (2-23/64" ) 3.0 M4 x 0.70 20 100
H-42-B-14 | 86 (3-25/64") 10.0 80 ( 3-5/32" ) ) 27 050
H-42-B-1 75 (2-61/64") 30 (1-3/16") 7 | 68(2-43/64" )| 3.5 M5 x 0.80 40
H-42-B-2 109 (4-19/64") 11.0 9 |100(3-15/16" )| 4.5 ) 80 50
H-42-B-3 120 (4-23/32") ' 110 (4-21/64" ) 120 150
40 (1-37/64" 10 5.0 M6 x 1.00
H-42-B-4 130 ( 5-1/8" ) ( /64) 120 (4-23/32" ) X 125
H-42-B-15 |162 ( 6-3/8" ) 150 (5-29/32" ) 235 30 60
H-42-B-5 |200( 7-7/8" ) 188 (7-13/32" ) 270
50 (1-31/32" 20.0 | 12 6.0 M8 x 1.25
H-42-B-6  |250 (9-27/32") ( /32") 238 ( 9-3/8" ) X 320 20 40
H-42-B-7 300 (11-13/16") 288 (11-11/32") 365

WIRE PULL © H-75-BL-100

[cComMPONENT]

109 - 19 -
(4-19/64") (3/4")
7 =)
o /
Q
S ~
) 3|
85
B &
O 3]
L ) _
| ~ §
L
100
(3-15/16") 2-M6
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
H-75-BL-100 130 80 - 304 Stainless Steel Mirror
www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE

FOLDING HANDLE (STUD TYPE)

[comPoNENT ==

I
>
¢ 90-degree folding handle. 2
¢ Handle clicks into open and closed O
position. -
=T ;
574 T \u 5”
O
L Cc
| r
(7 ! ) e
o lg (7))
Ty [+)
== {%} & 4[ JV A
7 2
i (@)
c o019 2-M6x 1 8
Item No. C L Load Capacity (kg) | Weight (g) | Box (pcs) | Carton (pcs)
HK-80 80 ( 3-5/32") 88 (3-15/32") 125
HK-100 |100 (3-15/16") | 108 ( 4-1/4" ) 50 (110 Ibs) 136 10 100 Material Finish
HK-120 120 (4-23/32") | 128 (5-3/64") 146 304 Stainless Steel Mirror

HK

327

H-75-C

HANDLE (OFFSET)

-
o
-
=
Z
L1 Q
o
>
<
g O
- m
{} N ~
i =
i
B 4
c 2-M Depth (S) o
Material Finish E
304 Stainless Steel Polished (7))
Item No. L1 (L2) S) H C oD M Weight (g) | Box (pcs) | Carton (pcs)
H-75-C-66 66 (2-19/32") 30.0(1-3/16") 60 (2-23/64") 23
H-75-C-86 86 (3-25/64") 16 ! 31.5(1-15/64") 80 (3-5/32") 6 M4 28 100 400
H-75-C-108 108 ( 4-1/4" ) 32.0(1-17/64") | 100 (3-15/16") 54
H-75-C-128 128 (5-3/64") 18 10 40.0(1-37/64") | 120 (4-23/32") 8 MS 70 %0 200

©

[comPONENT

LF-12

’ M5x30
Rolis STAINLESS

HANDLE (OFFSET)

Ik
= |\ 2-M5 x 0.8
& 7,
Sg \\\ Sojx depth 10
Naf
~—30—
o
50 8
Item No. L C Weight (g) Box (pcs) Carton (pcs)
LF-12-96 108 ( 4-1/4" ) 96 (3-25/32") 182 80
LF-12-128 140 (5-33/64") 128 (5-3/64") 211 10 60 Material Finish
LF-12-160 172 (6-49/64") 160 (6-19/64") 236 304 Stainless Steel Satin

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)



328 SUGATSUNE

HANDLE si| M=) XL-JS

STEEL

¢ |deal for harsh and highly corrosive environments.

L [D]RY HANDLES, PULLS & KNOBS

XL-JS360TT Satin
|1
©
XL-JS260TT f I i
‘ | I
XL-JS165TT | |
@ 1
c BT
L M4 x 0.7
Depth 10
Item No. L C H Weight (g) | Box (pcs) | Carton (pcs)
XL-JS165TT | 166 (6-17/32") | 160 (6-19/64" ) | 30 (1-3/16") 81 15 150 D — =
XL-JS260TT | 260 (10-15/64") | 254 ( 10" ) | 33 (1-19/64") 122 Mirror and Satin
10 100 i
XL-JS360TT | 358 (14-3/32") | 352 (13-55/64") | 36 (1-27/64") 166 2 Bz Szl Combination

STEEL

HANDLE sie| M==|  XL-JSR

e |deal for harsh and highly corrosive environments.

Satin
XL-JSR135TT
- ¥
©
XL-JSR100TT i
I
XL-JSR70TT | C
C - 10 =
M4 x 0.7
XL-JSR40TT Depth 10
Item No. L (¢} H Weight (g) | Box (pcs) | Carton (pcs)
XL-JSR40TT | 38(1-1/2") 32 (1-17/64") 27(1-1/16") 26 30 300
XL-JSR70TT | 70 (2-3/4") 64 (2-33/64") 35 00 200 Material Finish
XL-JSR100TT | 102 (4-1/64") 96 (3-25/32") 30(1-3/16") 51 416 Stainfess Stos! Mirror and Satin
XL-JSR135TT | 134 (5-8/32") | 128 (5-1/32") 63 15 150 s Bie Combination
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE

329

HANDLE ECH

M5x28
STEEL ‘

I
>
. ‘ . o ECH-75 through ECH-250 are <
sati ROHS compliant items. w )
atin ; t -
i ;,,44'; m
! »
) )
Mirror i (::D | c
M5 % 0.8 '_
Depth S 5
Material Finish
303 Stainless Steel | Mirror (M)/Satin (S) o
A
Item No. L C H B T S Weight (g) Box (pcs) | Carton (pcs) 2
ECH-75/M | ECH-75/S 83 (3-17/64") 75 (2-61/64") 115 10 100 (o)
ECH-100/M | ECH-100/S | 108 ( 4-1/4" ) 100 (3-15/16") | 40 (1-37/64") 135 15 150 (01]
ECH-125/M | ECH-125/S | 133 (5-15/64") 125 ( 4-59/64") 153 10 100 (7))
ECH-150/M 158 (6-7/32" ) 150 ( 5-29/32") 14 8 11 190 7 70
ECH-200/M 208 (8-3/16") 200( 7-7/8" ) | el 244 10 100
ECH-250/M 258 (10-5/32") 250 ( 9-27/32") 280 5 50
ECH-300/M 308 (12-1/8") 300 (11-13/16") 306
-
M5x30 >
HANDLE - XL-CU =
STAINLESS o
-
m
(V2]
- L
\
1
i
I
| D |
|- C
[tem No. L c H Weight (g) | Box (pcs) | Carton (pcs) Depth 15
XL-CU 80TT| 82(3-15/64") | 72 (2-27/32") | 32 (1-17/64") 112
XL-CU100TT | 102 ( 4-1/64" ) | 92( 3-5/8" ) | 34 (1-11/32") 136 10 100
XL-CU120TT | 122 (4-51/64") | 112 (4-13/32") | 36 (1-27/64") 163
XL-CU150TT | 152 (5-63/64") | 142 (5-19/32") | 38 ( 1-1/2" ) 200 80
XL-CU180TT | 182 (7-11/64") | 172 (6-25/32") | 40 (1-37/64") 234 8 Material Finish
XL-CU220TT | 222 (8-47/64") | 212 (8-11/32") | 42 (1-42/64") 282 40 st S Mirror and
XL-CU300TT | 302 (11-57/64") | 292 (11-1/2") | 44 (1-47/64") 372 6 30 303 Stainless Steel | iy Gombination
M5x30
HANDLE H--] XL-CUR
L Satin
il
2-M5x0.8 <16
C Depth 8
Item No. L C H Weight (g) | Box (pcs) | Carton (pcs)
XL-CURBOTT | 80(3-5/32") | 70( 2-3/4" )| 30(1-3/16") 101 150
XL-CUR100TT| 100 (3-15/16") | 90 (3-35/64") | 32 (1-17/32") 125 10 Material Finish
XL-CUR120TT| 120 (4-23/32") | 110 (4-21/64") | 34 (1-11/32") 150 100 308 Stainfoss Stocl Mirror and
XL-CUR150TT| 150 (5-29/32") | 140 (5-33/64") | 36 (1-27/64") 183 5 75 tainless Steel | gy Combination
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



330

SUGATSUNE

HANDLE DL

Max28
STAINLESS )

L | B —

[COMPONENT]

by SUGATSUNE

(7)) Y
i) G
) }
o T
<
A\ Satin ! CiD ! l
o3
M4 x 0.7
9 Depth S
|
2 Mirror Material Finish
- 303 Stainless Steel | Mirror (M)/Satin (S)
(72)
L Item No. L (¢} H B T S Weight (g) Box (pcs) | Carton (pcs)
-l DL-70/M DL-70/S 70 ( 2-3/4" ) 64 (2-33/64") 23.0 (29/32") 44 20 200
g DL-90/M DL-90/S 90 (3-35/64") 84 (3-5/16") 23.5 (59/64") 55
< DL-110/M | DL-110/S 110 (4-21/64") 104 (4-3/32") 24.0 (61/64") 13 6 10 65
T DL-130/M | DL-130/S 130 ( 5-1/8" ) 124 ( 4-7/8" ) 24.5 (31/32") 75 15 150
DL-150/M | DL-150/S 150 (5-29/32") 144 (5-43/64") 25.0 (63/64") 86
(2}
w M3x28
=  HANDLE H-:] DS
comronenT | STAINLESS
=z
§ B
!
¢ b -
Iy
‘ T
\ M3 x 0.5
DS-30/S Depth S
DS-90/M
Material Finish
303 Stainless Steel | Mirror (M)/Satin (S)
Item No. L C H B T S Weight (g) Box (pcs) Carton (pcs)
DS-30/M DS-30/S 30 (1-3/16") 25 ( 63/64") 23.0 (29/32") 8 15 40 400
DS-50/M DS-50/S 50 (1-31/32") 45 (1-25/32") 22.0( 7/8") 10 5 22 30 300
DS-70/M DS-70/S 70 ( 2-3/4" ) 65 (2-9/16") 22.5 (57/64") 10 28
DS-90/M DS-90/S 90 (3-35/64") 85 (3-11/32") 23.0 (29/32") 35 20 200
M5x28
HANDLE O =] EC
[ComponEnT  |E
| < B -
!
aD i }
A
T
Satin ‘
| - | J
\ M5 x 0.8
Depth S
Mirror
Material Finish
303 Stainless Steel | Mirror (M)/Satin (S)
Item No. L C H B T S Weight (g) Box (pcs) Carton (pcs)
EC-100/M | EC-100/S 100 (3-15/16") 92 ( 3-5/8" ) 32 (1-17/64") 10 102 15 150
EC-120/M EC-120/S 120 (4-23/32") 112 (4-13/32") 34 (1-11/32") 14 s 120
EC-150/M | EC-150/S 150 (5-29/32") 142 (5-19/32") 36 (1-27/64") 12 148 10 100
EC-180/M | EC-180/S 180 (7-3/32") 172 (6-25/32") 37 (1-29/64") 174
www.sugatsune.net LAM p@ 1-888-557-5267 (U.S.A. Only)



HANDLE

SUGATSUNE

331

FB

I
>
<
O
L B r
m
} (7]
e "U
! T =
| J = | | -
i ‘ n
c M5 x 0.8 o
Depth S P
Z
Material Finish (@)
304 Stainless Steel Mirror W
(7))
Iltem No. L C H B T S Weight (g) | Box (pcs) | Carton (pcs)
FB-90 90 (3-35/64") 82 ( 3-7/32") 26 (1-1/32") 10.5 6 10 45 35 280
FB-110 110 (4-21/64") 102 ( 4-1/64" ) 28 (1-7/64") 12.5 7 12 60 25 200
FB-130 130 ( 5-1/8" ) 120 (4-23/32") 32 (1-17/64") 14.5 8 14 93 20 160
>
HANDLE (s @ He KB 2
[COMPONENT STAINLESS (w)
-
m
L *—B — m
!
4 F
- L}
‘ T
\ M3x0.5
¢ ' Depth s
KB-90/M KB-30/S Material Finish
303 Stainless Steel | Mirror (M)/Satin (S)
Item No. L C H B T S Weight (g) | Box (pcs) | Carton (pcs)
KB-30/M KB-30/S 30 (1-3/16") 25 ( 63/64" ) 23.0 (29/32") 8 18 40 400
KB-50/M KB-50/S 50 (1-31/32") 45 (1-25/32") 22.0( 7/8") 10 5 26 30 300
KB-70/M KB-70/S 70 ( 2-3/4" ) 65 ( 2-9/16") 22.5 (57/64") 10 33
KB-90/M KB-90/S 90 (3-35/64") 85 (3-11/32") 23.0 (29/32") 40 20 200
HANDLE @ #6-32x1 Ks
m— |STAINLESS |
L B —=
!
S
i
‘ T
c \ 6-32
Satin Depth S
Mirror Material Finish
304 Stainless Steel | Mirror (M)/Satin (S)
Item No. L C H B T S Weight (g) Box (pcs) Carton (pcs)
KS-430/M KS-430/S 81 (3-3/16") 76 ( 3" ) 45
KS-435/M KS-435/S 94 (3-45/64") 89 (3-1/2") 23 (29/32") | 10 B 9 48 20 200
KS-440/M KS-440/S 106 (4-11/64") 102 ( 4" ) 54

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)



332

HANDLE

SUGATSUNE

©

[COMPONENT]

STAINLESS

316

STEEL

#6-32x1
STAINLESS )

KC-S

¢ |deal for harsh and highly corrosive environments.

by SUGATSUNE

n
(a1]
(@) 120
< | |
X 1 \ o
o3 ‘ 85
‘il) Mirror q> l =
5I c 6-32
o Depth 3/8"
Satin
(2]
L
- Item No. C Weight (g) Box (pcs) Carton (pcs)
g KC-S635/M | KC-S635/S 88.9 (3-1/2") 67
< KC-S640/M | KC-S640/S 101.6( 4" ) 71 20 200
T KC-S650/M | KC-S650/S 127.0( 5" ) 85 Material Finish
KC-S660/M | KC-S660/S 1524 ( 6" ) 95 316 Stainless Steel Mirror (M)/Satin (S)
i
STAINLESS #6-32x1
2 HANDLE ® B 5 E=] Ke-R
[conEzonenT BLLE STEEL STAINLESS
=z
g . o
T e |deal for harsh and highly corrosive environments.
124=
Te}
i
+ L 2
Mirror -
‘ c | \ 6-32
Satin Depth 3/8"
Item No. C Weight (g) Box (pcs) Carton (pcs)
KC-R635/M | KC-R635/S 88.9 (3-1/2") 60
KC-R640/M | KC-R640/S 101.6( 4" ) 67 20 200
KC-R650/M | KC-R650/S 127.0( 5" ) 78 Material Finish
KC-R660/M | KC-R660/S 1524 ( 6" ) 88 316 Stainless Steel Mirror (M)/Satin (S)
STAINLESS #8-32x1
HANDLE © B G HE=] Ek-s
il STEEL STAINLESS
¢ |deal for harsh and highly corrosive environments.
144<
|
! P T =
f <
aQ
o
Mirror i i
I e
c 8-32
Satin Depth 3/8"
Item No. C Weight (g) Box (pcs) Carton (pcs)
EK-S635/M | EK-S635/S 88.9 (3-1/2") 90
EK-S640/M | EK-S640/S | 101.6( 4" ) 91 20 200
EK-S650/M | EK-S650/S | 127.0( 5" ) 113 Material Finish
EK-S660/M | EK-S660/S | 152.4( 6" ) 122 316 Stainless Steel Mirror (M)/Satin (S)
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)



333

SUGATSUNE

STAINLESS

316

STEEL

HANDLE © b= EK-R

T
>
¢ Ideal for harsh and highly corrosive environments. =z
)
-
m
14 5/)
e
U
P =
%R -
Mirror CD i :" (7))
8-32 9°
c Depth 3/8" ;
Satin
o
o)
Item No. (¢} Weight (g) Box (pcs) Carton (pcs) (/)]
EK-R635/M | EK-R635/S 88.9 (3-1/2") 95
EK-R640/M | EK-R640/S 101.6 ( 4" ) 106 20 200
EK-R650/M | EK-R650/S 127.0( 5" ) 123 Material Finish
EK-R660/M | EK-R660/S 152.4 ( 6" ) 141 316 Stainless Steel Mirror (M)/Satin (S)

HANDLE

95.5,08.2

EC-Y

S3TANVH

14 |~

[ ——.

#

T ml
© M
™M =

Material Finish
303 Stainless Steel Mirror
Item No. L L1 C B H T M Weight (g) Box (pcs) | Carton (pcs)
EC-Y-140 138 100 (3-15/16") 120 (4-23/32") o 38 (1-1/2" ) 142 5) 50
EC-Y-160 158 120 (4-23/32") 140 (5-33/64") (51/64") 40 (1-37/64") 6 28 160 3 30
EC-Y-190 188 150 (5-29/32") 170 (6-11/16") 42 (1-42/64") 185 2 20
STAINLESS
HANDLE © ie MG
[conFonmsT] STEEL ) [Noscrew

¢ Ideal for harsh and high corrosive environments.
e Compliant with SEMI S8-0701 guideline.

7y N I
\\Z 1Y/
&
2-0d
M
Iz
tl): “
l I
*
Material Finish
316 Stainless Steel Mirror
ltem No. | D C L P W H h | S | ed | Weight (g) | Box (pcs) | Carton (pcs) |Recommended Screw
MG-150 |16| 150 (5-29/32") | 172.8 (6-51/64") | R6.5| 62 | 56 (2-13/64") |40 | 6 | 6 295 10 40 M5
MG-190 s 190 (7-31/64" ) | 216.7 (8-17/32") R7.5 92 | 63 (2-31/64") | 45 8|7 460 25 e
MG-250 250 (9-27/32") | 275.5 (10-27/32") | 145 | 68 (2-43/64") 595 5
MG-230T 230 ( 9-1/16" ) | 260.0 (10-15/64") 129 50 666 20
20 R9.0 70 ( 2-3/4" ) 10| 9 M8
MG-300T 300 (11-13/16") | 330.0 (12-63/64") 199 838

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)



334

L [D]RY HANDLES, PULLS & KNOBS

HANDLE

SUGATSUNE

STAINLESS

©

[COMPONENT]

STAINLESS

2LC

¢ |deal for harsh and highly corrosive environments.

2 —od, od1

B:

<
i) * (I
i B
Material Finish
316 Stainless Steel Mirror
Item No. L L C h2 t | d | di |Weight(g) |Box (pcs)| Carton (pcs)| Screw
2LC-80 80 (3-5/32") 32 64 (2-33/64") | 16 | 14 | 35 ( 1-3/8" ) 55 40| 8 5| 95 70 12 144 4% 20
2LC-120 120 (4-23/32") 64 96 (3-25/32") | 18 | 16 | 36 (1-27/64") ) 45 9 ) 106 8 96
2LC-150 | 150 (5-29/32") 89 |128 (5-1/32") | 21 | 18 | 42 (1-42/64") | 6.0 | 10l 6 110172 6 72 5% 32
2LC-180 180 (7-3/32") 118 | 160 (7-3/32") | 23 | 20 | 45 (1-49/64") | 6.5 | 5.0 ) 225 3 36

HANDLE (TITANIUM)

2 -@d,0d:

2LC-TI

T i |
L+
L
Material Finish
Titanium Shotblast
Iltem No. L L C = = H hy ha t d di Weight (g) | Box (pcs) | Carton (pcs)
2L.C-80Ti 80(3-5/32") | 32 | 64(2-33/64")| 16 | 14 | 35(1-3/8" )| .| 40 | 8 | 05 37 30 180
2L.C-120Ti 120 (4-23/32") | 64 | 96(3-25/32")| 18 | 16 | 36 (1-27/64") | 45 2 ) 62 20 120
2L.C-150Ti 150 (5-29/32") | 89 [128(5-1/32")| 21 | 18 | 42 (1-42/64") | 6.0 ’ 10| 6 | 11.0 96 15 90
STAINLESS
316 @
HANDLE 16| fe4 3LC
2-od
L1
C
o) ——— o W T
N\ :E
[ LS [N O000| l
‘R(Lg)a‘ T
ltem No. L L|w Hr He | Hs c g | MiEen) B )i
@ | (pcs) | (pes)
3LC-120 | 120(4-23/32") | 29 | 20 | 30(1-3/16") | 6 | 5 | 105(4-9/64") | | 90 100 | 500
3LC-130 | 130( 5-1/8" ) | 30 | 22 | 33 (1-19/64") | _ | | 115 (4-17/32") | 120 Material Finish
3LC-145 | 145 (5-45/64") | 35 | 25 | 34 (1-11/32") 125 (4-59/64") |6.5| 155 | 80 | 400 316 Stainless Steel Mirror
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



HANDLE

SUGATSUNE

STAINLESS

©

[comPONENT

B4 ac

¢ |deal for harsh and highly corrosive environments.

4-0d, od:

Material Finish
316 Stainless Steel Mirror
Item No. L L1 C B1 | B2 H hi h2 t d | di |Weight (g) | Box (pcs) |Carton (pcs)| Screw
4L.C-82 82 (3-15/64") | 46 64 (2-33/64") 48| 16 36.5(1-7/16") | 5.5 | 4.0 8 5 | 95 110 8 96 4%20
4L.C-114 114 (4-31/64") 78 96 (3-25/32") 40.0(1-37/64") 6.0 45 9 148 6 72
4L.C-150 150 (5-29/32") | 106 | 128 (5-1/32") 50 18 | 45.0(1-49/64") ) ) 10 | 6 [11.0 210 3 36 5 %32
4L.C-180 180 (7-3/32") | 140 | 160 (6-19/64") 20 |48.0(1-57/64") | 6.5 | 5.0 ) 270 2 24
HANDLE sE i us
componeRT |
| 1 * Rubber grip allows for an easy
@ I ! @ and comfortable grip.
- - * Light weight design.
2d,@d1
c
‘ !
‘ \ i
| CD I} %-C
S g
Mirror L
* Grip - Black/Synthetic Rubber
Satin Material Finish
304 Stainless Steel Mirror (M)/Satin (S)
Item No. L L1 (o} B H h t d di | Weight (g) | Box (pcs) | Carton (pcs)| Screw
US-70/M  |US-70/S | 70( 2-3/4" )| 20| 54 ( 2-1/8" )| 17 | 28.0(1-7/64") 1 55 | 33 | 6.6 20 20 200 3.1x16
US-120/M |US-120/S |120 (4-23/32")| 57 |102 (4-1/64" )| 19 | 32.0(1-17/64") 65 | 38 | 7.6 45 3.5x20
US-160/M |US-160/S |160 (6-19/64")| 88 | 140 (5-33/64") | 22 | 37.5(1-15/32") | 23 | 7.5 | 4.1 8.1 70 10 100 4.1x25
Y
HANDLE s EC-H
4-05.5,08.2
& iF
L g
9 G,
P
14
(o T
Material Finish
3083 Stainless Steel Mirror
Item No. L L1 C H Weight (g) Box (pcs) Carton (pcs) Screw
EC-H-135 135 (5-5/16") 120 (4-23/32") | 115 (4-17/32") | 40 (1-37/64") 191 B 50 3.1x16
EC-H-165 165 (6-1/2") 150 (5-29/32") | 145 (5-45/64") | 42 (1-21/32") 216 3 30 3.5x20

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)

335

T
>
Z
=]
r
m
»
o
(=
r
r-
7
2o
X
Z
o)
W
7

S3TANVH



336

SUGATSUNE

HANDLE

FT-110S

n
5 Q===
(@) ‘ 2-84.6
<
80
o3 (3-5/32") b~
) | e gd
-l [ T | -
J I ‘ *v
-} (12.6) 7) 15
o 110
n (4-21/64")
(2} 124
L (4-718")
|
(&)
=z
§ Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
FT-110S 60 50 200 304 Stainless Steel Satin
(2}
2 HANDLE O©p @  FT-65, 80, 100
a Yy O
> e
T
=
c @d1, @d2
L1 B
|
—— o
( - w :I: |
| 4 |
. ] gt !
M- = - By =~
L
Material Finish
304 Stainless Steel Mirror
Item No. L L1 C B1 B2 H T t M d1 d2 | Weight (g) | Box (pcs) | Carton (pcs) Screw
FT-65 65 47 | 57( 2-1/4" )| 13 7 16( 5/8" ) | 835 | 40 | 13 23 6.4 19 40 480 3116
FT-80 80 61 | 72(2-27/32") | 14 8 20(25/32") | 40 | 45 | 14 ) 6.4 32 30 360 )
FT-100 | 100 | 75 | 88(3-15/32")| 18 10 | 25(63/64") | 5.0 | 55 | 18 | 41 8.0 58 20 240 3.8x20
Y
HANDLE © FT-120, 150
o
[ ! )
¢}
I | J I
c od, gdz
I Li Be
|
— 1 ff
I
¥ | ; ;
! I -
b & L
| L
Material Finish
304 Stainless Steel Mirror
Item No. L L1 C C1|B1|B2 H T|t| M| di | d2 |Weight(g) |Box (pcs)| Carton (pcs) | Screw
FT-120 | 120 (4-23/32") | 102 (4-1/64") | 106 ( 4-11/64") |24 |36 |12 | 27(1-1/16")| 5|7 |14 | 41 | 8.0 105 10 120 3.8x20
FT-150 | 150 (5-29/32") | 129 (5-5/64") | 132 ( 5-3/16" ) |30 | 45 | 15| 33(1-19/64") |6 |8 | 18 | 5.3 |10.4 191 5 40 5.1x25

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)



SUGATSUNE

LARGE HANDLE © B [ H=2] Fr-200, 280

[comPONENT STEEL

¢ Ideal for harsh and highly corrosive environments.
¢ High profile allows for easy gripping with gloved
hand.

e

—
ﬂ/ Lv
Fb l g\ﬂ * B:ﬁ

2
B
="

JD\\gC oSN

Material Finish
316 Stainless Steel Mirror
Item No. L L1 C Ci|B1| B H T t M Weight (g) Box (pcs) | Carton (pcs)
FT-200 | 200 ( 7-7/8" ) | 170 (6-11/16") | 175 (6-57/64") | 45 | 22 | 70 \50(1-31/32") 8 10 25 586 1 20
FT-280 | 280 (11-1/32") | 250 (9-27/32") | 253 (9-31/32") | 55 | 26 | 80 GS(( 2//16" )| 10 12 27 1088 10

LARGE HANDLE

sie| M==]  FT-S280, 370

¢ Ideal for harsh and highly corrosive environments.
¢ High profile allows for easy gripping with gloved
hand.

L1 1 —B1+

n
tL
H
T

3
;

Material Finish
316 Stainless Steel Mirror

Item No. L L1 B | Bt H T t M C C1 | C2 | Weight (g) | Box (pcs) | Carton (pcs)
FT-S280 | 280 (11-1/32") | 170 (6-11/16") | 30 | 22 | 50 (1-31/32") | 8 | 10 | 65 | 196( 7-23/32") | 30 | 12 612 1 20
FT-S370 | 370 (14-9/16") | 250 (9-27/32") | 36 | 26 | 62 (2-7/16") | 10 | 12 | 72 | 277 (10-29/32") | 35 | 18 1154 10

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE

337

T
>
Z
=]
r
m
»
o
(=
r
r-
7
2o
X
Z
o)
W
7

SITANVH 394V


macuser
Pencil

macuser
Pencil

macuser
Pencil

macuser
Pencil

macuser
Pencil


338

L [D]RY HANDLES, PULLS & KNOBS

HANDLE

SUGATSUNE

¢ Made with PVC material:

- Ideal for semiconductor, manufacturing
machinery and transparent applications.

- Weather proof, chemical proof

¢ High profile allows for handle to be easily
grasped with gloved hands.

¢ Environmentally friendly PVC, lead-free.

e Compliant with SEMI S8-0308 guideline.

* Requires two 3/16" (5 mm) diameter screws for
installation. Screws not included.

MH-P120

05.4
MH-P120 ﬂ==u
Lﬁ 100
(3-15/16") (16.7)
Wide clearance makes it easier J -
to use with gloves (R10) — i‘
I 1=
iy W
43 I —~o ] z
(1-11/16") © 5 .20
S« (13/16")
120 — ~
v (4-3/4") 2
Item No. Weight (g) Box (pcs) Carton Material Finish
MH-P120 34 64 640 Polyvinyl Chloride (PVC) Clear

HANDLE

MH-P170

conplar

¢ Made with PVC material:

- Ideal for semiconductor, manufacturing
machinery and transparent applications.

- Weather proof, chemical proof

¢ High profile allows for handle to be easily
grasped with gloved hands.

¢ Environmentally friendly PVC, Lead-free.

¢ Compliant with SEMI S8-0308 guideline.

* Requires two 3/16" (5 mm) diameter screws for
installation. Screws not included.

MH-P170

2x@5.4
|
5 ‘ _
M, &
(13/16"
%

Wide clearance makes it easier T T 5
to use with gloves 0
Y
< 3
l 2
. 94 |
(3-45/64") ©
I 150
— v (5-29/32")
170
(6-11/16")
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
MH-P170 56 48 480 Polyvinyl Chloride (PVC) Clear
www.sugatsune.net LAM p@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGHTSUNE 339

HANDLE FT-R

I
>
¢ A rounded handle for a comfortable grip. Z
* Wide grip. O
-
m
w
U
c
-
r-
(7]
Qo
2
% B
) ©) o
@ o)
@ 17 ¢ w
\ &&
od
od:
P:
[ B:
XL
bl z
T
{ ‘ ‘ o)
EL @t tpd g =
m
M= 7))
L Bi—|
ltem No. L L1 B1 B2|H | T|t|M P1 P2 | d1 | d2 |Weight (g)
FT-R-120|120 (4-23/32")| 106 |36 ( 15/32")| 12 | 27 |5.0| 7 |12 | 108 ( 4-1/4" ) | 24 |4.5| 8.5| 140 Material Finish
FT-R-160|160 (6-19/64")| 142 |48 (1-57/64")| 16 | 36 |6.5| 9 | 16 | 144 (5-43/64") | 32 |5.5(10.5| 285 304 Stainless Steel Mirror

HANDLE 3 FT-T

STAINLESS

* Ergonomically designed handle for a
comfortable grip.

* Wide grip.
D)
| 3, *
d
i}
@d:
od:
P:

‘ L1

Item No. L L1 Bi1 | B2 |[Ba| H T t M P1 P2 | di | d2 |Weight (g)

FT-T-120 | 120 (4-23/32") | 105 | 40 | 10 | 15| 28.5 |5.5| 7.5(19.0| 96 (3-25/32")| 24 |4.5| 8.5| 225

FT-T-170 | 170 (6-11/16") | 150 | 54 | 12 | 19| 38.0 | 7.0 |10.0|25.5 135 (5-5/16")| 32 | 5.5 |10.5| 500 Material Finish

FT-T-220 | 220 (8-21/32") | 200 |69.3| 15 [24.3 49.5 | 9.3 |13.0|32.5 176 (6-59/64")| 41 | 6.5 |12.5| 1000 316 Stainless Steel Mirror
www.sugatsune.net LAMDP 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



340

L [D]RY HANDLES, PULLS & KNOBS

HANDLE

SUGATSUNE

Max25
STAINLESS )

16 SERIES

L o012
(1/27)
T
N ‘
I
10
C (3/8")
— 20+
ltem No. L C H Weight (g) | Box (pcs) | Carton (pcs)
1646 118 (4-41/64") 96 (3-25/32") 62
1647 150 (5-29/32") 128 ( 5-3/64" ) 70
1648 182 (7-11/64") 160 (6-19/64") 85
1650 214 (8-23/64") 192 ( 7-9/16" ) 94
1651 314 (12-23/64") 292 ( 11-1/2" ) 121
4 (1-11/32" 2 2
1652 342 (13-15/32") 320 (12-19/32") 34 (1-11/32°) 128 ° %0
1653 364 (14-21/64") 342 (13-15/31") 134
1654 414 (16-19/64") 392 (15-7/16") 148
1655 514 (20-15/64") 492 ( 19-3/8" ) 175 Material Finish
1656 614 (24-11/64") 592 (23-5/16") 202 304 Stainless Steel Satin
’ Max25
HANDLE H-“] 27 SERIES
218
(11/16")
[ ]
H
; =
S =
L |
Item No. L C H Weight (g) | Box (pcs) | Carton (pcs)
27096 128 ( 5-3/64" ) 96 ( 3-25/32") 140
27128 160 (6-19/64") 128 ( 5-3/64" ) 152
27160 192 ( 7-9/16" ) 160 ( 6-19/64" ) 170
27192 224 (8-13/16") 192 ( 7-9/16" ) 183
* = I : o "
27299 *DISBONTPINUEDR92 ( 11-7/16") |\ 1 ooy | 225 5 150
27820 D) | S ONPIMWEDS20 ( 12-9/16" ) 237
20342 D) | 8 ONCBIRAVIE D342 ( 13-15/32") 245
27382+ DISGONTINMUEDS392 ( 15-7/16" ) 267
27492 524 ( 20-5/8" ) 492 ( 19-3/8" ) 309 Material Finish
27592 624 (24-9/16") 592 ( 23-5/16" ) 351 304 Stainless Steel Satin
’ Max25
HANDLE M-:] DIHH
214
™ or16") [+
B & L
| ¢ |
L
Item No. L C H Weight (g) Box (pcs) | Carton (pcs)
DIH-096 | 110 (4-21/64") 96 ( 3-25/32") 57
DIH-128 | 142 (5-19/32") 128 ( 5-3/64" ) 66
DIH-192 | 206 ( 8-7/64" ) 192 ( 7-9/16" ) . 83
DIH-342 | 356 (14-1/64") 342 (13-15/32") 35(1-3/8") 123 % 250
DIH-492 | 506 (19-59/64") 492 ( 19-3/8" ) 163 Material Finish
DIH-592 | 606 (23-55/64") 592 ( 23-5/16") 189 304 Stainless Steel Satin
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



341

SUGATSUNE

HANDLE

L
>
c Z
over ca
(sold sepgrately) Ig
m
w
U
C
r-
r-
(7]
o
MJH-150
M6, M8 Bolt ;
o
Surface Mount (ws)
7))
MJH-120
Cover cap
(sold separately)
MJH-93 o
>
Z
)
-
m
(7]
MJHC-YE MJHC-GR MJHC-BL

Back Mount

by SUGATSUNE

/’ -
M6, M8 Bolt
o Without cover cap
7 il
Y ¥ i
i S - —
) o
) @ 215 Ba‘ Cover cap (sold separately)
—l H
&’ﬁ% 1
| WI Tyt
j Cover ca % % \ B-B section X, N OOIL
(sold separately) ; i N Sj i
c *
(soldosveepralcrg‘t)ely) ‘ L: 'u*j@D) W:
Installation L1
”‘\\
n
A-A section
Item No. Material Color Weight (g)
MJHC-BL Black
MJHC-GR |Polyamide Gray 1.4
MJHC-YE Yellow
Iltem No. | Load Capacity (kgf) | Material | Finish P L1 L2 D S H1 H2 | W1 W2 | Weight (g)
MJH-93 93 (3-21/32") | 119 (4-11/16")| 67 | 6.5 | 10.2 | 42 (1-21/32") 33.5| 25.0 | 21.3 162
MJH-120 46 (101lbs) Polyamide | Black | 120 (4-23/32") | 146 ( 5-3/4" )| 94 | 8.5 | 13.2 | 47 (1-27/32") 385 | 265 | 22.4 180
MJH-150 150 (5-29/32") | 176 (6-59/64")| 124 | 8.5 | 13.2 | 52(2-3/64") | 43.5| 28.0 | 22.5 206
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)



342 SUGATSUNE

HANDLE

KMH

L [D]RY HANDLES, PULLS & KNOBS

KMH-150
KMH-120
/ Nut
KMH-100 C M5 bolt
Cover cap
(sold separately)
KMHC-WT KMHC-GR KMHC-BU KMHC-BL
Installation
Without cover cap Cover cap (sold separately)
&) &)
! /) ))
- &
/ o N
Q2
N~
L
.—22.2—> *
(718" % 5
~ ) ~—(12.3, 95
n g : * ;=)
== 5 i l
e ;
20.7—= 12 06.2 16
(13/16") (15/32") 20' (5/8")
Cover Cap (Sold Separately)
W COVER CAP
Item No. Material Finish Weight (g)
KMHC-WT White
KMHC-GR Grey
PBT .7
KMHC-BU Light Blue 0
KMHC-BL Black
B HANDLE
Item No. Load Capacity (kgf) Material Finish L A B P Weight (g)
KMH-100 Sati 125 (4-59/64") 116 85 100 (3-15/16") 162
KMH-120 51 (112 Ibs) Zinc Alloy Chractlrr;e 145 (5-45/64") 136 105 120 (4-23/32") 180
KMH-150 175 (6-57/64") 166 135 150 (5-29/32") 206
www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



HANDLE

SUGATSUNE

gt

KPH

343

T
>
Z
=]
r
m

»
o
(=
r
r-
7
2o
X
Z
o)
W
7

T
|
e
T | \
l ™
! -
A
C | >
L M %
-
m
Item No. L C H M Weight (g) | Box (pcs) |Carton (pcs) »
KPH-160 176 (6-59/64") | 160(6-19/64") 100
40 (1-37/64") | M4x0.7
KPH-192 | 208 ( 8-3/16" ) | 192( 7-0r16" ) |0 (1-37/64")) Mx 115
KPH-224 240 (9-29/64") | 224(8-13/16") 130 10 100
KPH-256 | 272 (10-45/64") | 256 (10-5/64") |50 (1-31/32")| M5x0.8 143 Material Finish
KPH-288 304 (11-31/32") | 288(11-11/32") 160 304 Stainless Steel Satin
’ Max25
HANDLE H-“] 40 SERIES
Y
H
1 T
C ‘I
Iltem No. L C H D Weight (g) | Box (pcs) | Carton (pcs)
40128 | 138 (7-1/64") | 128 ( 5-1/32") 166
40160 | 170 @-11/16" | 160 (6-to6ar) | (S0, |\ S0, [ 198 10 40 Material Finish
40192 202 (7-61/64") | 192 ( 7-9/16" ) 219 304 Stainless Steel Satin

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)



344

LD ]R) HANDLES, PULLS & KNOBS

HANDLE

SUGATSUNE

ompaent

30 SERIES

Max25
STAINLESS )

M4 x 25

Item No. L C Weight (g) Box (pcs) Carton (pcs)
3096 118 (4-41/64") 96 (3-25/32") 72
3097 151 (5-15/16") 128 ( 5-1/32") 90 o5 250
3098 189 (7-7/16") 160 (6-19/64") 108 Material Finish
3099 224 (8-13/16") 192 ( 7-9/16") 128 304 Stainless Steel Satin

HANDLE

comptens

50 SERIES

Max25
STAINLESS )

I I <8
D I S C O W@ :
|52
c \M4 x 25
Item No. L C Weight (g) Box (pcs) Carton (pcs)

5010 118 (4-41/64") 96 ( 3-25/32") 69
5011 151 (5-15/16") 128 ( 5-1/32") 86 o5 250
5012 189 (7-7/16") 160 ( 6-19/64") 103 Material Finish
5013 224 (8-13/16") 192 ( 7-9/16" ) 122 304 Stainless Steel Satin

www.sugatsune.net LAM p@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE 345

HANDLE H-“] 82 SERIES

o
>
Z
)
-
m
L (7]
U
c
r
-
(7))
M4 w
c - A
pd
o
o)
(7))
Item No. L C H Weight (g) | Box (pcs) | Carton (pcs)
8261 182 (7-11/64") 160 (6-19/64") 166
8262 214 (8/27-64") 192 ( 7-9/16" ) . 179 Material Finish
41 (1-39/64 25 250
8263 | 246 (9-11/16") | 224 (8-13/16") ( ) 192 304 Stainless Steel Satin
8264 342 (13-15/32") 320 (12-19/32") 231 Aluminum Anodized

S3TANVH

HIGH-QUALITY
STAINLESS STEEL,
ALUMINUM, & MORE

[

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



346

SUGATSUNE

HANDLE 26 SERIES

LW RSSE HANDLES, PULLS & KNOBS

*2658 and 2659 has center post in the middle.

[COMPONENT]

Mdx25
STAINLESS )

¢ Handles 2647 through 2659 are NSF

approved handles.

L

*@14r~

¢ L

M4 x 0.7

i

Depth 10
Item No. L C Weight (g) | Box (pcs) | Carton (pcs)

2646 160 (6-19/64") 96 (3-25/32") 107

2647 192 ( 7-9/16" ) 128 ( 5-1/32" ) 113

2650 256 (10-5/64") 192 ( 7-9/16" ) 136

2653 406 (15-63/64") 342 (13-15/32") . 187

2655 556 (21-57/64") 492 ( 19-3/8" ) 35 (1-3/8") 216 25 250

2656 656 (25-53/64") 592 (23-5/16") 324

2658 1220 (48-1/32") 1156 (45-33/64") 547 Material Finish
2659 1456 (57-21/64") 1392 (54-13/16") 570 304 Stainless Steel Satin

HANDLE

Max25
STAINLESS )

28 SERIES

018

3|

-1 o @%_L.*

[« >
Item No. L C Weight (g) | Box (pcs) | Carton (pcs)
28096 160 (6-19/64") 96 (3-25/32") 155
28128 192 ( 7-9/16" ) 128 ( 5-1/32" ) 166
28192 256 (10-5/64") 192 ( 7-9/16" ) 190
28342 406 (15-63/64") 342 (13-15/32") 350
47 (1-27/32" 15 150
28492 556 (21-57/64") 492 ( 19-3/8" ) ( /32") 322
28592 656 (25-53/64") 592 (23-5/16") 381
281192 1220 (48-1/32") 1192 (46-59/64") 627 Material Finish
281392 1456 (57-21/64") 1392 (54-51/64") 714 304 Stainless Steel Satin
M4x25
HANDLE H--] 70 SERIES
L
|
| c |
Item No. L C Weight (g) Box (pcs) | Carton (pcs)
7013 160 (6-19/64") 96 (3-25/32") 121
7014 192 ( 7-9/16" ) 128 ( 5-1/32" ) 139
7015 224 (8-13/16") 160 (6-19/64") 157
7016 256 (10-5/64") 192 ( 7-9/16" ) 174 25 250
7017 288 (11-11/32") 224 (8-13/16") 192
7018 320 (12-19/32") 256 (10-5/64") 210 Material Finish
7020 384 ( 15-1/8" ) 320 (12-19/32") 246 304 Stainless Steel Satin

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (u:s.A. only)



HANDLE

SUGATSUNE

()}
i
|

F==1
L--J /
f— Hit —

C
= L=\ 2-M6 Depth (9)
Iltem No. L+ L2 C S W H1 Hz2 | Weight (g) | Box (pcs) |Carton (pcs) ~ Material Finish
SAZ-121 121 (4-49/64") 17.5 | 102 (4-1/64") 9 10 | 28 (1-3/32") 5 85 40 400 Zinc Alloy Chrome
Y
HANDLE At 936 SERIES
L TQ—« ©
| <
i ! f<
1 [} o
10 11
c 2-M4x0.7
Depth S
Item No. L C S | Weight (g) | Box (pcs)| Carton (pcs) | Screw Material Finish
-55-SCR . 2-5/8" .0 (2-11/64" 4 M4x2 tin Ch R
936-55-SC 66.5 ( 2-5/8 ") 55.0 ( /6 ") 8 0 50 200 x25 Zinc Alloy Satin Chrome (SCR)
936-100-DC 112.0 (4-13/32") 100.5 (3-61/64")| 10 52 M4x28 Dull Chrome (DC)
M4x25
HANDLE H-“] XLA-HA
b .
g
D
IN O /-
\ c
L 2-M4x0.7
Depth 5
Item No. L C Weight (g) Box (pcs) | Carton (pcs)
XLA-HA96 109 (4-19/64") 96 (3-25/32") 132
XLA-HA128 141 (5-35/64") 128 ( 5-1/32" ) 142 20 80
XLA-HA192 205 ( 8-5/64" ) 192 ( 7-9/16" ) 144 No. | Part Name Material Finish
XLA-HA256 269 (10-19/32") 256 (10-5/64") 180 10 60 @ Body Aluminum Alloy Anodized
XLA-HA320 333 (13-7/64") 320 (12-19/32") 200 @ Leg Zinc Alloy Matte Silver

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)

347

T
>
Z
=]
r
m

L
o
(=
r
rr-
7
2o
X
Z
o)
W
77

S3TANVH



348 SUGATSUNE

RECESSED PULL

Ho] XLA-HH

e Light weight design.
¢ Bracket for sheet metal available.
Item No.: XLA-HH40B

120 |=—

Depth 155

r o

»1= 1.6~3 thick

Bracket

Wood Cut Out Dimensions

2
M4 Depth7
Sheet Metal Installation 1

RECESSED PULLS Jala\ o1 NS SV HECR. g (()'[0] 215

5 /@D =
~NEN Lj ~ | % Lt)sg
Com < 12 a5
250 & 3 S -G
Bag 2 Sy ee L84
,L"ll: :%JV e\ Q4.2
18 20
L 145 (45/64”) (25/327)
94.1,08
Iltem No. L Weight (g) Box (pcs) Carton (pcs) No. Material Finish
XLA-HH300 300 (11-13/16") 140 10 100 ® Aluminum Anodized
XLA-HH600 600 ( 23-5/8" ) 247 5 50 @) Zinc Alloy Chrome
XLA-HH40B - - - - ® | 430 Stainless Steel Polished

MEGA-RECESSED PULL (W/BAR HANDLE) He Bl HH-M

¢ Designed for industrial applications where use of
thick gloves is required.

¢ Handlebar is recessed into cup keeping it flush and
out of the way when not in use.

P1

304T Po——P: T—
.

&

Ps3

fe— H3 —

i+
52 % $
3 N "
o 075
Lt
06.5 .
P2 P2
- p. %
2-97 & {
\ } : ]
/‘ &
+ ]+ 4
No. | Part Name Material
@é Item No. Box(pcs) Carton(pcs) 0] Bar
HH-M200 1 4 @) Cup 304 Stainless Steel
HH-M400 2 ® | End Cover
Item No. L H, H., L2 P4 P, Ps Ls Hs
HH-M200 | 260 (10-15/64") 218 (8-37/64") | 235 (9-1/4") | 87.5( 3-7/16") 216 (8-1/2")
186.3 (7-21/64") | 138.3 (5-29/64" 80 140 (5-33/64"
HH-M400 | 460 ( 18-7/64") ( ) ( ) 418 (16-29/64") | 435 (17-1/8") |125.0 (4-59/64") 416 (16-3/8") ( )
www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE 349

RECESSED PULL (BACK MOUNT) H] HH-PS99

o
>
* Designed for back mounting. =z
¢ For panel thickness of 15mm(19/32"). O
-
| | w
- ‘ ‘ r _ @3552) o
- N+ K=
2-05.2 s 0
< ‘ 995 % ‘ r
& (& | 5
& a Y N3 Q0
3 ©5) g N s Panel Cut Out Dimensions
ol 3 &
°|8 \ | ;
— o,
D, Ve ™
< ‘ 99 153 28 8
123 n
(4-27/32")
135
(5-5/16")
Iltem No. Weight (g) Carton (pcs) Material Color
HH-PS99 42 200 Polypropylene with Glass Fiber Black

m
M5x20
‘ - (@)
RECESSED PULL Hel HH-P
(7))
) ) (7]
e Made with PVC material: m
- Ideal for semiconductor, manufacturing machinery and transparent applications. O
- Weather proof, chemical resistant.
¢ Large opening allows for easy accessibility with gloved hands. )
¢ Environmentally friendly PVC, Lead-free. C
¢ Compliant with SEMI S8-0308 guideline. -
® Door thickness: 1 to 11mm 5
w0 e i
(3—%78 ") 17 5 104 ———y (4-2‘11/%4“)
(4-39/532“) (3-5%9/54“)
i~ o < (3-47/64") _ o T:‘
| — 488 | 8 1= Js Zﬁ 18
HE i ) aBCIR T ™
Q@
HH-P130 5 o HH-P118 LA &
20'5 & Panel Cut Out Dimensions
L - kos it casi =il Handle Holding Fixture
arge opening makes it easier -
to ugse with gI?)ves Item No. Weight (g) Box (pcs) Carton (pcs)
Material Color HH-P118 43 45 450
Polyvinyl Chloride (PVC) Clear HH-P130 100 30 300
RECESSED PULL <] UP-600
94—+
100 — » (3-45/64")
(3-15/16") — o
5 25
j\ &3 i
<N~
N
A Panel Cut Out Dimensions
v
=) I ~ ( 1S
i~
[}
94 33
(3-45/64") (1-19/64")
Item No. Weight (g) Box Carton (pcs) Material Color
UP-600 25 50 300 ABS Black/Chrome

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



350

RECESSED PULL

SUGATSUNE

96

(3-25/32")

1 |

©

[comPONENT

* Snap-in type recessed pull for sheet
metal thickness 0.8mm.

AT-100

n
(a1]
o 96.3+9°
2 |2 N (3-51/64")
X AT-100-B -
100 §3
o (3-15/16") Ao 22 e
91 12 ) S
(/)] (3-37/64") © l =
J L AN ‘V —
- e | ~
- | - 548 Panel Cut Out Dimensions
o 2 feeg (thickness: 0.8mm)
3 <
L) v z
n AT-100-1 0000 e e
w N
a
> Iltem No. Weight (g) Box (pcs) Carton (pcs) Material Color
< 21'1 00! Ivory (I)/
T -100-BR 23 50 250 ABS Brown (BR)/
AT-100-B Black (B)
4
= )
3 RECESSED PULL 4 AT-70
o CompongT [
(a] )
L 65.5 * Snap-in type recessed pull for sheet
77) (2-37/64") metal thickness 0.8mm.
i || [
Ll
O I I ‘ 65.713 |
T} ‘ (©-19/32") \
AT-70-B 70 - 4w le
o« (2’631/ 4) (43}674") ;t?
(2-13/32") T 12 o8
£ = = -~ 82
4 i S R v
L) ;" v“\2 9 Q .?
~e -9 o = Panel Cut Out Dimensions
,,,,,,,,,, v & i - (thickness: 0.8mm)
AT-70-1 o
Iltem No. Weight (g) Box (pcs) Carton (pcs) Material Color
AT70-1 ory (I
AT-70-BR 12 100 550 ABS Brown (BR)/
AT-70-B Black (B)
RECESSED PULL © @ Ars-100
Sl
* Snap-in type recessed pull for sheet
(3_1%‘71 &) metal thickness 0.8mm.
!
f— 97210 —
ATS-100-B ! (Go%6% s
100 " 3.2 <17 -‘ij é"
‘ (3-15/16 ) ‘ - 43/64) 5 5
@-11/16") ‘ T s
i \— +: o Panel Cut Out Dimensions
L o s (thickness: 0.8mm)
| | z
ATS-100-I —><+—0.8
PI;treSmgg.l Weight (g) Box (pcs) Carton (pcs) Material Color
= Ivory (I)/
ATS-100-BR 12.5 100 550 ABS Browril((B)R)/
ATS-100-B Black (B)
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE




SUGATSUNE

RECESSED PULL (SCREW MOUNT)

I
2
HH-JS140-BL
O
D: Ds E
HH-JS110-BL (7))
1 -
T O
HH-JS90-IV I T o= 'g
T @j( M4 -
|
HH-JS70-IV { * o
W D2 —=6.5 —~ w
2 (174" % P
w a3 Z
N
@v o
4.5 g
11 5 oy 66 @8N
Y <%¥ _Screw M4 5 " "
06.5 ! ‘éﬁﬁ%
\ I
|
Sheetmetal Cut Out Dimensions Installation FEIE NI b4 G A m
Handle Body |ABS + Polycarbonate | Ivory (IV)/Black (BL) <|'|_1>
Item No. Wi W2 H1 Ha Hs D1 | D2 | Ds P Ws | W4 |Box (pcs) | Carton (pcs) m
::-ﬁ% 70 ( 2-3/4" )| 43 (1-11/16")| 38 ( 1-1/2" )| 17.0 ( 43/64" )|19( 3/4" )|10.5 9| 58(2-9/32") | 48 | 25 (7))
HH-JS90-BL 3.0 m
TAH-JS90V | 90 (3-35/65")| 63 (2-31/64")| 44 (1-47/64") | 21.5 ( 27/32" ) |22 ( 55/64" ) 78 (3-5/64") | 68 | 31 O
11.0— 10 200 v
HH-JS110-BL
Hszﬁ 110 (4-21/64")| 82 (3-15/64")| 50 (1-31/32") | 24.4 ( 61/64" ) |26 (1-1/32") 11| 96 (3-25/32") | 90 | 36 Cc
a a 35 C
HH-JS140-BL . . T 3 T . r
“HH-JS140 -V | 140 (5-33/64") | 109 (4-19/64")| 64 (2-33/64") | 34.0 (1-11/32") | 33 (1-19/64") |11.5 126 (4-61/64") | 116 | 48 (7))

351

RECESSED PULL (SNAP-IN MOUNT)

HH-JW

HH-JW140-BL * Snap-in type recessed pull for sheet metal
thickness 0.5 ~ 3.2 mm.
HH-JW110-BL
R6
j‘hﬁ—f
HH-JW90-IV ":g
& R
E— Snap-In
HH-JW70-IV
Sheetmetal Cut Out Dimensions Installation
Part Name Material Finish
Handle Body ABS + Polycarbonate Ivory (IV)/Black (BL)
D 15 Type W He
. .
| b ° | Panel 0.8mm [Panel 1.0~1.2mm|Panel 1.0~1.2mm| Panel 2.3mm
‘ HH-JW70 46 28.7 29 29.4 30.8
. HH-JW90 66 34.7 35 35.4 36.8
‘ é T HH-JW110 | 88 40.7 41 41.4 42.8
| | L HH-JW140 | 114 54.7 55) 55.4 56.8
|
I Box | Carton
wz D e lla Item No. Wi W2 H1 He D1 | D2 ocs) | (pcs)
' HH-JW70-BL 70 43 38 18.5 105
HH-JW70-IV | ( 2-3/4" )| (1-11/16") [ ( 1-1/2" )|( 47/64" )| o
HH-JW90-BL 20 63 44 229 |00
HH-JW90-IV | (3-35/65") | (2-31/64") | (1-47/64") | ( 29/32" )| " 0 | s
HH-JW110-BL 110 82 50 26.8
HH-JW110-IV | (4-21/64") | (3-15/64") | (1-31/32") | (1-1/16") il as
HH-JW140-BL | 140 109 64 37.8 T
HH-JW1410-IV| (5-33/64") | (4-19/64") | (2-33/64") | (1-31/64")
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



352 SUGATSUNE

RECESSED PULL (W/VENTILATOR) UTA-105

n
[a1]
o
Z
°¥5 UTA-105BL
v
-
]
D UTA-105GR
(a8
%)
-
D UTA-1051V
s
I
o
o
g
o
Z
w
>
s
™ 1S
N = B o S ) SR
5' Wp ""’ : I N
100%° ———»
g (3-15/16")
L
(%))
{ﬁ Installation Panel Cut Out Dimensions Air Circulation
(&)
1T]
o

105
(4-1/8")
86
(3-3/8")
13 / le li © ©
% ( 3 =25 T T TEmm |
J = | J < (R o
Ventilator
28
iR
@\/ —~ |-
T T ~3
E:
) I [
99
(3-7/8")
105
(4-1/8")

Item No. Panel Thickness Weight (g) Box (pcs) Carton (pcs) No. Material Finish
UTA-105BL 0] 304 Stainless Steel Satin
UTA-105GR 18~25mm (11/16"~1") 40 15 150 (@)

BT | ABS Black (BL)/Grey (GR)/Ivory (IV)
www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE 353

RECESSED PULL (TITANIUM) HH-AS2TI

o
>
¢ Recessed titanium handle. P
« Lightweight O
¢ High corrosion resistance. -
m
»
U
a—— 100 — Cc
(38-15/16") r
——91 —» 5
(3-37/64")
©
-4k | = x
LA 2
100 | A ,\_'/ (o)
90 M4 X0. vs)
2-M4x0.7 2 ¢6 m
2 Sheetmetal Cut Out Dimensions
120
»=14.5
86 © g (2.%) -
m
! 0
-+ = = = & 8 P 3 crg
¥ i 17
! m
\ O
U
CcC
-
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish r-
HH-AS2-TI 30 12 240 Titanium Shotblast (2]

RECESSED PULL

H-] 5103

e Sheetmetal mounting bracket, 5103-80
sold separately.

£ f 04.3 % pe T

| of £

Depth hs ¢

Lz P4 Ps
L1 Ls

Sheetmetal Cut Out Dimensions

-
T +ha=
~
N1 -

P1

80
60

T? Ta
35 83
4 |
lv l Item No. Description Material Finish
5103-55 Handle . L
Mounting Bracket 5103-80 (sold separately) 5103-80 Mounting Bracket Zinc Alloy Satin Nickel
Iltem No. L L H1 H2 hi he P1 P2 Ls Hs Ps R R hs
55 315 40 315 15.5 12.5 32 16
5103-55 | 5 11/64") | (1-15/64") | (1-37/64") | (1-15/64") | (39/64") | (31/64") |(1-17/64")| (578" ) | 46 | 3 | 100 | 2 ) ies
80 42,0 50 40.0 18.0 14.0 60 10
5103-80 | 3 5730 )| (1-21/32") | (1-31/32") | (1-37/64")| (45/64") | (35/64") |(2-23/64")| (e5/64n) | 70 | 44 | 45 | 3 | 22 | 140
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



354 SUGATSUNE

RECESSED PULL

H] HH-KL160

e Compliant with SEMI S8-0600 guideline.
* Spacer for sheet metal application sold

130 separately.
(5-1/8")
105
(4-9/64" M4 x 0.7
LA %)— Depth 8 i
o] 4 | ‘ e —
e il ittt e LATICE)
Spacer
160 (Optional : BSP-8)
6-19/64") " ——
103 N Sheet metal mounting application
(@-1/16" & @ oE
Ng r 1|3 ’
5 | St o<g || desle
P e © -
i\ e
QP(
5, 21.8
(55/64") Sheetmetal Cut Out Dimensions
Iltem No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-KL160 260 8 48 304 Stainless Steel Satin

RECESSED PULL =] HH-KP150

RECESSED PULLS QWb RS0 SV N ECR-Y () [0] 215

132 e Compliant with SEMI S8-0600 guideline.
(5-13/64")
113
(4-29/64") ‘ _
/ \ Hole ' & mz\°
4x0 6\ ‘ | m?
o | 115 1@ ;,:
505 Q| l4-17/32") o3
1-63/64") ol | o—t &
5111 $ <
%
~ 132
N < (5-13/64")
N i Sheetmetal Cut Out Dimensions
o
y 08¢0 8o
1o S “m:./
» >
< 11.4 7 \amsx08
& (4-25/64") (Copper plated steel)
Iltem No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-KP150 390 5 50 304 Stainless Steel Satin

RECESSED PULL

H.2] HH-FB, HH-FC

=
Q_f

° 11
oaT
[ m—¢ i
4-04.5 /
' y Sheetmetal Cut Out Dimensions
e Pl R EEEEE pali T
f ! it rj L { ] VI F L No. | PartName Material Finish
II jé II j £ @ | FrontPlate
2 s B %H l B & l @ | Back Cover ] Mirror (M)/
® M4 Stud 304 Stainless Steel Satin ()
HH-FB HH-FC @ | M4 Nut
Item No. Stud/Nut (L1) L2 Ls (H1) H2 Ha Ha P+ P2 (Ps) | Weight (9)
HH-FB-1/M | HH-FB-1/S | M4 Stud 138.0 96 95 88 62 21.0 64 110 65 15 170
HH-FC-1/M | HH-FC-1/S| M4 Nut | (5-7/16") |(3-25/32")| (3-47/64") | (3-15/32")| (2-7/16" ) | (53/64") | (2-33/64") |(4-21/64")| (2-9/16" ) :
HH-FB-2/M | HH-FB-2/S | M4 Stud 109.5 71 70 64 40 14.5 42 88 38 13.0 100
HH-FC-2/M | HH-FC-2/S | M4 Nut | (4-5/16") |(2-51/64")| ( 2-3/4" ) |(2-33/64") | (1-32/64") | (37/64") | (1-21/32") |(3-15/32")|( 1-1/2" ) :
HH-FB-3/M | HH-FB-3/S | M4 Stud 94.0 61 63 60 43 12.0 45 76 32 14.0 80
HH-FC-3/M | HH-FC-3/S | M4 Nut | (3-45/64") |(2-13/32")| (2-31/64") | (2-23/64")| (1-11/16") | (15/32") | (1-49/64") |(2-63/64")| (1-17/64") .
www.sugatsune.net LAM p@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE 355

316 M HH-D

STEEL STAINLESS

RECESSED PULL (hsF)

[comPoNENT T
2
114 )
-31/64" 19/32" X\
:4 391)?64 ; . o /2 ) & ]
3-25/32" w0
e — [ T Depth 15.5 b E
~1% g ~—— 9%\ 445 (2]
\'@JC )@‘; lzse o 108 ¢ -
Vo / Ny | @ aq vl
N N —— " % 2 l = \ |=  Panel Cut Out Dimensions C
1 &> -
© wn
83 J——Léﬁ r-
3-17/64" _ o
. ( : 0Z ik »
il TE L—gg—»‘ ’%‘% ]
S 2 \* é
45"\ Maxo7 Cut Out Dimensions for sheet metal. (o)
107.6 ~ Depth 8 Put sheet metal between front and back
(4-15/64") P L
part for sheet metal applications. m
(Max. sheet metal thickness: 2 mm) m
Material Finish/Color
Iltem No. Weight (g) Box (pcs) Carton (pcs) 316 Stainless Steel Mirror
HH-D 85 10 60 ABS Black
m
RECESSED PULL O utr o
RoHS m
_COMPONENT m
(7]
m
O
U
C_ [ D] F
-
(7]
L -
v Panel Installation
= = —
T Material Finish/Color
L b T ., 304Stainless Steel Satin (S)
e—By— Brass (UT-105/PB only) | Brass (PB)/(UT-105/PB)
Plastic Black
Item No. L L H h B B1 a Weight (g) | Box (pcs) | Carton (pcs)
UT-75/S 75 (2-61/64") 71 (2-51/64") 7.0(9/32") |15.5(39/64")| 36 (1-27/64") | 30.8 0.4 15 40 400
UT-105/S-1 105 ( 4-1/8" ) 99 (3-57/64") 7.5(19/64") |15.5(39/64")| 40 (1-37/64") | 32.5 0.5 30 25 250
UT-140/S 140 (5-33/64") 134 (5-9/32") 7.5(19/64") |15.5(39/64")| 47 (1-27/32") | 40.5 0.5 45 15 150
UT-105/PB 105 ( 4-1/8" ) 99 (3-57/64") 7.5(19/64") |15.5(39/64")| 40 (1-37/64") | 32.5 0.5 30 25 250
|——— L ——— H - h
] -—— » o) Panel Installation
Q
l Material Finish/Color
304 Stainless Steel Satin (S)
Brass (SP-35/PB only) | Polished Brass (SP-35/PB)
Plastic Black
Item No. L B H h D d Weight (g) Box (pcs) Carton (pcs)
SP-35/S 44 (1-47/64") 44 (1-47/64") 9.8 (25/64") 35.1 31 10 100 1000
SP-38/S 47 (1-27/32") 47 (1-27/32") 37.6 34 11 60 1440
2.2 10.3 (13/32"
SP-48/S 57 ( 2-1/4") 57 ( 2-1/4" ) ( ) 48.6 44 16 50 1200
SP-35/PB 44 (1-47/64") 44 (1-47/64") 9.8 (25/64") 35.1 31 10 1000
www.sugatsune.net LAM p® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



356

SUGATSUNE

RECESSED PULL HH-AS2

©H

ICOMPONENT
«—— 100
0 100 (3-15/16")
91
o0 90 2-M4x0.7 (3-37/64") .
o y 0 &
Z L RE:
X R <
o 120 2- 06
(_,I) 86 © :11-(52‘3 Cut Out Dimensions
|
o !
o
U; 1 = = - & 8 1P| 3
1
u | '
D l
E *Titaniun version avalable upon request.
T Iltem No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-AS2 50 12 240 304 Stainless Steel Satin
4
|
3 RECESSED PULL HH-ASS
o
(a]
7
1005 l«—100.5—»]
7)) (3-61/64") <3}89/g4")
o L8 2-M5x0.8 .~ 00— »
3) (8-1/2") (3-35/64") b -
17} / N §de
o ‘ i L
120 g3 2-07 =
(4-23/32") S8
87 o
(3-27/64") 2
— Cut Out Dimensions
—————————————————————— v 115
o | =58 =
LestEls 93
© OR -
P -l -
+ \
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-AS3 50 12 240 304 Stainless Steel Satin
RECESSED PULL © B B2 Es
== STEEL
102
(4-1/64")
90 *
(3-35/64")
=h~
i d, 7Es8
t
121
(4-49/64")
ET ) wo ns sl ef = o2
(Male Studs/Copper) (M4 Female Studs/Copper (Weld-on) & ?
with M4x25 Steel screws) -
* ES-611/ET: Male studs/  * ES-611/IT: Female studs/
Copper M5x0.8 Length 10  Copper M4x0.7 Depth 6
Item No. Weight (g) Box (pcs) Carton (pcs)
ES-611/ET 68
ES-611/IT 60 20 200 Material Finish
ES-611/WO 304 Stainless Steel Satin
www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE 357

Panel Cut Out Sheetmetal Cut Out

STAINLESS M4x8

RECESSED PULL © B 5 EE] HH-KS
i sTEEL STAINLESS T
>
¢ Ideal for harsh and high corrosive environments. %
-
114 (4-31/64" _ m
ﬂige( -'25/32"))a %, 3 w
:‘,u‘/ 777777777777 Y L] ,E/;JMI:; U
o ‘ Y Cc
(3-27/64") ,3\ |_
(3-1%3/64") (3-25/32") 5
]
A
pd
o
o)
(7))

86 . ) . )
(3-25/64") Dimensions Dimensions
M4 x 0.7
No. Part Name Material Finish
Item No. Finish Weight (g) Box (pcs) Carton (pcs) @ Face Plate 316 Stainless Steel Mirror/Satin
HH-KS 114M Mirror ) Case Satin
110 10 60 304 Stainl Steel
HH-KS 114S Satin ® Spacer ainiess stee -
m
STAINLESS M4x8
RECESSED PULL © B EHE] HHDS 9
cowpone  |E231| |\ STEEL STAINLESS m
»
(7]
¢ |deal for harsh and high corrosive environments. m
O
~— 114 (4-31/64") —»
~— 96 (3-25/32") —» 4 g
P S— 3 =g s 3
Af SONE NP 203 -
N 7T N8 v% 2 |—
*********** 8| - U Y B g (V)]
83—+ © L—e7—Ip,
(3-17/64") P @-27/647 | "%
o~ og ~ (3-25/32")
38 08
et =2
(3-25/64") 3@ - Panel Cut Out Sheetmetal Cut Out
= Dimensions Dimensions
No. Part Name Material Finish
Item No. Finish Weight (g) Box (pcs) Carton (pcs) @ Face Plate 316 Stainless Steel Mirror/Satin
HH-DS 114M Mirror @ Case Satin
105 10 60 304 Stainl Steel
HH-DS 114S Satin ® Spacer ainiess stee -
STAINLESS M4x8
RECESSED PULL ® B [FE EE) HHK
2| | STEEL STAINLESS
9\'\?3
114 . g
(4-3;{564”) (13/532“) . (;95/24") ?f
(3-25/32") 6— .\
(3-22?32") 045
T ~ [ T P 108 ———!
T B (4-1/4")
| ©Q
e "% 3&  Panel Cut Out Dimensions
S — A I e
¥ 'T?\IE
o~
3 1873/64") i#@z ;
P © (3-25/64") G')é‘
i [ < le—"96 ——»
] i { (3-25/32")
M4 L 0.7 Sheetmetal Cut Out Dimensions.
(4_11057/'24‘.) Depth 8 Put sheet metal between front and back
part for sheet metal applications.
(Max. sheet metal thickness: 2 mm)
Material Finish/Color
Iltem No. Weight (g) Box (pcs) Carton (pcs) 316 Stainless Steel Mirror
HH-K 90 10 60 ABS Black
www.sugatsune.net LAM p® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



358 SUGHTSUNE

RECESSED PULL SD-160

164 — 150
» (6-29/64") T (5-29/52") -
- <
m i 12
Depth 16 3
(@) | | o~ %, <
e & =
E ! i ? T ¢ ® 53?6) 08
~043 -
had Panel Cut Out Dimensions
% f
112
c—’|> SD-160/SN (4-13/32")
© (
5' . \ : T
i 1 L 1 — I I
LT ] [T foo ol
n' SD-160/CR L] X ¥ i L
x 27.5 Spacer
(/)] L»»—o« p :
w 395 = (552 M4 x07 (Optional: BSP-8)
-l «—405 —>] 150 P i cati
Q - (5-29/32") Sheet metal mounting application
E Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish/Color
T SD-160/CR Zinc Alloy Chrome (CR)/Satin Nickel (SN)
—_— 165 10 60 -
SD-160/SN Plastic Black
(7}
-l
|
= RECESSED PULL UTZ-130
o
(a]
L UTZ-130/CR _ @56
‘n ? T — o
0O <
A 92 |5 8d
L 1 rie |8 Deptni6 2
P 32 & =
8 UTZ-130/SN :g ; Q\@. . -
= (3-57/64")
D: a4 Panel Cut Out Dimensions
(3-5/16")
G178)
 ——
5 =
ﬁ\\iJ > . *¢9§T~ ! ——
o ~ = —
ql [r — G ?S Spacer
UTZ-130/SB SEEMS A
L&SJ - s o (Optional: BSP-8)
(1-9/32) ( -116 ) ‘ Depfhé Sheet metal mounting application
(4-9/16")
Iltem No. Weight () Box (pcs) Carton (pcs)
UTZ-130/CR Material Finish/Color
UTZ-130/SN 105 10 60 Zinc Alloy Chrome (CR)/Satin Nickel (SN)/Bronze (SB)
UTZ-130/SB Plastic Black

RECESSED PULL (W/DOOR STOPPER)

- 40 —| (13 30~40
(1-37/64") (1.8) 1

HH-P135

® Door stopper can be flipped-out to
prevent door from entering pocket and
pinching fingers.

* Door stopper can be flipped-in to
completely open the door.

¢ Applicable door thickness: 30~40 mm
(1-3/16"~1-9/16")

¢ Can be used on door thickness up to
50 mm (1-31/32") by using longer M4
screws. (Not supplied.)

aT(m 5) =

(5-5/16")
125

HH-P135/CR
Shown

—t2g e
(1-1/327)

Bore Dimensions

*In case of using counterplate, change the gap (marked ) to 7 mm (9/32") to
prevent the stopper and plate from hitting or scratching.

No. Material Finish/Color

*counterplate ! : Chrome (CR)/Dull Chrome (DC)/
o | #neAley Satin Nickel (SN)

Item No. Door Thickness (mm) | Weight (g) Box (pcs) Carton (pcs)
HH-P135/CR @ | Polyurethane -

HH-P135/DC 30~40 290 S S0 . Steel Chrome (CR)/Dull Chrome (DC)/
HH-P135/SN Satin Nickel (SN)

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGHTSUNE 359

RECESSED PULL RP

I
>
5
H h
-
m
»
g2 -
o O
a1 0 ,.\\/ C
. © @ -
Panel Installation r-
(7))
Qo
A
Z
. o
Item No. L H h D Weight (g) Box (pcs) Carton (pcs) W
RP-30 30 (1-3/16") 7.5(19/64") 27.5 4.0 3600 (7))
RP-37 36 (1-27/64") 8.5 (21/64") 31.5 6.0 100
RP-45 46 (1-13/16") 0.5 ) 41.0 9.5 2400
RP-60 60 (2-23/64") 9.5( 3/8" ) 53.5 15.0 50 1200 Material Finish
RP-80 80 ( 3-5/32") ) 71.0 25.5 25 500 304 Stainless Steel Satin
s
’ m
RECESSED PULL o OP-150 o
»
(7]
m
O
150 0.5 9.5 (3/8" U
(5-29/32") ®/8") Cc
_ )\ o0& || =2
\ RS E ?
= } Panel Installation
@2
144
(5-43/64")
ltem No. Weight (g) Box (pcs) Carton (pcs) Material Finish
OP-150 30 30 720 304 Stainless Steel Satin

RECESSED PULL 4] HN

e | T—H—1

-5
Panel Cut Out Dimensions
T
( g \ o / jE
‘\ v j '
0.8-+h=H
Ls Material Finish
304 Stainless Steel Satin
Weight | Box | Carton
Item No. L Li H B B+ B2 Lo Bs Hi © (cs) | (pcs)
HN-120SH | 120 (4-23/32") | 100 | 10.0 (25/64") |30 (1-3/16") | 20 ( 25/32" ) | 18.5 |100.5 ( 3-61/64") |20.5 (13/16") | 10.5 19 50 500

( ( )
HN-150SH | 150 (5-29/32") | 130 | 12.0 (15/32") |35 ( 1-3/8" ) | 26 (1-1/32") | 24.5 |130.5 ( 5-9/64" ) |26.5 (1-3/64") [12.5| 27 20 | 200
HN-200SH | 200 ( 7-7/8" ) | 170 170.5 ( 6-23/32") 50
13.2 (33/64") |50 (1-31/32") | 36 (1-27/64") | 34.5 36.5 (1-7/16") [13.7 10 | 100
HN-250SH | 250 (9-27/32") | 220 ( ) |50¢ ) ( ) 220.5 (8-11/16") ( ) 92

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



360

RECESSED PULLS g\ o] NS V] RESY. g (' [o] -1

RECESSED PULL

SUGHTSUNE

3511, 3512 SERIES

11
dan\
o | K
\J T
3511038/SN 3511400/CR = l
3511 SERIES Panel Cut Out Dimensions
2 1
(7116") 026
[ T e
8dg N
Q ®d S
3512038/SN 3512400/CR l ae i
3512 SERIES Panel Cut Out Dimensions
Item No. Weight (g) Box (pcs) Carton (pcs)
3511038/SN 27 1
3511400/CR o5 250
3512038/SN 17.0 Material Finish
3512400/CR ' Zinc Alloy Satin Nickel (SN)/Chrome (CR)
68.5 69
(2-45/64") (2-23/32") '
T
1 o8
r 1 N =
110 & -
(4-21/64")
65 Panel Cut Out Dimensions
(2-9/16”) 25 11
| (7/16")
3922038/SN f } ! pT 2 o
- R RIS g8
\_ 182 i
3 - hal
3922400/CR
Item No. Weight (g) Box (pcs) Carton (pcs)
3922038/SN Material Finish
70.9 25 250
3922400/CR Zinc Alloy Satin Nickel (SN)/Chrome (CR)
M4x20
RECESSED PULL Ml YK-70
¢ |deal for pocket door application.
20
2(5/32)“)
2-04.508.5
4 —1 20.5 =
(15716") (13/16°) o4 ,
i | (15/167) 22
(ﬁs‘/é’ﬁ 3.3~ ) 3 5-rla | (55/64)
~ 11 (1/8") 1o (55/64")  (9/64")
eog ! gl o © ©
v—ﬁ | T g 2 4* — T —
v:tg = ig | 00:Q 1<) 5’,
)| a2e3 52 fz e
¥ ! J SR L« ¥
Door Thickness:
min. 30 mm
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
YK-70 37 20 200 304 Stainless Steel Satin
www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGHTSUNE 361

H-] yK-w100

RECESSED PULL

I
>
 |deal for pocket door application. P
(20) U
(25/32" r
m
w

[—24—~] 45,085 18 =
(15/16") 208 (45764 E

181 33—~ 24 20
-
3.5+ r
i (7))
Y
- |- . -1z K o
N o o * 3 o2
== (8832 8% 83 T 82 €@ A
x J I & 1 l y L Z
- & o
B P ve)
Door thickr :
© e 7,
Iltem No. Weight (g) Box (pcs) Carton (pcs) Material Finish
YK-W100 45 20 160 304 Stainless Steel Satin

PULL H-“] pR

ST11nd

(&)
Mirror Satin 4/
M4 x 0.7

Depth S

S\
\/

Material Finish
304 Stainless Steel Mirror (M)/Satin (S)

Item No. L C H t D S Weight (g) Box (pcs) Carton (pcs)
DR-S/M DR-S/S |24.5( 31/32" ) | 18 (45/64") |25.0 ( 63/64" ) 5.5 16.5 5) 10 80 800
DR-L/M DR-L/S |30.5(1-13/64") | 21 (53/64") |31.5 (1-15/64") 6.5 20.5 6 22 50 500

PULL

STAINLESS
M4x25
316 | RD
g STEEL STAINLESS

¢ |deal for harsh and highly corrosive environments.

C

|

| Il

)

I

L
Item No. L C H B d Weight (g) Box (pcs) | Carton (pcs)
RD-55/SM | 55(2-11/64") | 42(1-21/32") | 23.0 (29/32") | 9.5 |\ 50 30 360 Material Finish
RD-90/SM | 90(3-35/64") | 74(2-29/32") | 25.5(1-1/64") | 10.5 ) 80 20 240 316 Stainless Steel | Mirror

www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



362

Sele]JV/NECE HANDLES, PULLS & KNOBS

PULL

SUGHTSUNE

3.1x20
STAINLESS )

SN

2] 035,07
RCzH‘RCz——
¥
@ S—— i g
1 i 1 i} 1
i I
2l
L - 25
Material Finish
304 Stainless Steel |Mirror (M)/Satin (S)/Black (BL)
Item No. L Ci Cz H Hole | Weight (g) | Box (pcs) | Carton (pcs)
SN-50/M SN-50/S SN-50/BL 50 ( 1-31/32") 30 ( 1-3/16") - 47 40 400
SN-70/M SN-70/S SN-70/BL 70( 2-3/4" ) 46 (1-13/16") - 2 65 30 300
SN-95/M SN-95/S SN-95/BL 95 ( 3-47/64") 65 ( 2-9/16") - 90 20 200
SN-120/M SN-120/S - 120 ( 4-23/32") 90 (3-35/64") | 45 18 (45/65") 3 112
SN-150/M SN-150/S - 150 ( 5-29/32") 114 (4-31/64") | 57 147 15 150
SN-200/M | SN-200/S = 200 ( 7-7/8" ) 112 (4-13/32") | 56 4 200 60
SN-300/M | SN-300/S . 300 (11-13/16") 180 ( 7-3/32") | 90 300 10 40
@ 35x20
PU LL [COMPONENT & SN D
y 03.5,07.5
—Co—+—Co—
L]
© © T ‘ N
i 7
SND-120/M | i H
SND-50/M ) A s
Material Finish
304 Stainless Steel Mirror (M)

Item No. L Ci Cz Hole Weight (g) Box (pcs) Carton (pcs)
SND-50/M 50 ( 1-31/32" ) 30( 1-3/16" ) - 47 40 400
SND-70/M 70( 2-3/4" ) 46 (1-13/16") - 2 65 30 300
SND-95/M 95 ( 3-47/64" ) 65 ( 2-9/16" ) = 90 20 000
SND-120/M 120 ( 4-23/32" ) 90 (3-35/64") 45 3 112
SND-150/M 150 ( 5-29/32") 114 (4-31/64") 57 147 15 150

Y
PULL DSI-350
le—c .| e S N
. L N L L o
Item No. C L Weight (g) Box (pcs) Carton (pcs) 10(1-916) [
DSI-350-16 16 ( 5/8" ) 32 ( 1-1/4" ) 22 . 1
DSI-350-64 64 ( 2-1/2" ) 96 (3-25/32") 66 - _ s i
DSI-350-96 96 (3-25/32") 128 ( 5-1/16" ) 88 (13167
DSI-350-128 128 (5-1/16" ) 160 ( 6-5/16" ) 110 X
DSI-350-160 160 (6-5/16" ) 192 ( 7-9/16" ) 132 iy
DSI-350-192 | 192 (7-9/16" ) | 224 (8-13/16") 154 ’
DSI-350-224 224 (8-13/16") 256 (10-1/16") 176 10 100
DSI-350-256 256 (10-1/16") 352 ( 13-7/8" ) 240 Material Finish
DSI-350-352 352 (13-7/8" ) 544 (21-7/16") 374 304 Stainless Steel Satin
www.sugatsune.net LAM p@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



FOLDING RING PULL

SUGHTSUNE

STAINLESS

316
STEEL

®

NO SCREW

comptert

¢ Ideal for harsh and highly corrosive
environments.

26700

76.5
3" * The pull is recessed into the mounting
plate keeping it flush with the mounting
~25.7 > 59 71 surface.
(63/64") * Low profile design.
| u
@ Z i
1 QY —
. b - 65
© |~ Y &
oo AN Y i T } 4#
© O~ =
< A w \ ‘
- g Bore depth: 7
(2]
N
@9 172\ i e s
; ) - : Y
‘ 1. 1.
d ‘ hd
65.7 04.9, 08 S—
(2-9/16") Cut Out Dimensions
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
26700 120 20 100 316 Stainless Steel Polished
STAINLESS
FOLDING RING PULL sic| 1 26900
« (1_318/2,,) > ¢ Ideal for harsh and highly corrosive
~ environments.
[+ 28.5 —*™ Ire) 2.7 9 * The pull is recessed into the mounting
(1-1/8") plate keeping it flush with the mounting
| Y || surface.
R | Iz e Low profile design.
N2/ N2/ Y
g | N —
3 0k
55 EX
S =D HE
NN
{ U
04.3, 08 : :
Cut Out Dimensions
ltem No. Weight (g) Box (pcs) Carton (pcs) Material Finish
26900 45 20 100 316 Stainless Steel Polished

FOLDING RING PULL

(1-47/64")

sz")

44

31 —™ 3 >+t 9 te—

STAINLESS

316
STEEL

®

NO SCREW

26901

Sompaort

¢ Ideal for harsh and highly corrosive
environments.

* The pull is recessed into the mounting
plate keeping it flush with the mounting
surface.

AR %7&\\ * Low profile design.
N
T ly
0L ©0Q
D= AW
NQ o
z ) 8
@ A Ak
W LJ Bore depth: 10
Cut Out Dimensions
4.5, 08
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
26901 85 20 100 316 Stainless Steel Polished
www.sugatsune.net LAMDP 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE

363

T
>
Z
o
-
m
»
o
c
r-
rr
/)
2o
X
z
o
)
7]

ST11Nd DNIH ONIAT04



364

(2}
[a1]
o
-
4
o3
(72]
|
=
)
o
(72]
i
|
Q
P
<
I

FOLDING RING PULLS (SPRING LOADED)

SUGHTSUNE

FOLDING RING PULL (SPRING LOADED)

080643

* Spring loaded-snaps flat to stay out of the way
when not in use.
| * The pull is recessed into the mounting plate

& ) R keeping it flush with the mounting surface.
‘T © gl‘ ® Low profile design.
N o= o® « Ideal for vibration or shock applications.
)T
- |
S 1
60
(2-23/64") 4-04.07

75
(2-61/64")

: : ™o
©
t‘ﬁ §\
=

11

Iltem No. Weight (g) Box (pcs) Carton (pcs) Material Finish

980643 51 10 200 304 Stainless Steel Polished

FOLDING RING PULL (SPRING LOADED) 980641, 980642

¢ Spring loaded-snaps flat to stay out of the way
when not in use.

* The pull is recessed into the mounting plate
keeping it flush with the mounting surface.

* Low profile design.

e |deal for vibration or shock applications.
08.2, Depth3
980642 980641 z
B
Depth10
Material Finish
304 Stainless Steel Polished
Item No. L L2 Ls H1 Ha Hs R1 oR: P4 P2 di d> | Weight(g) | Box (pcs) | Carton (pcs)
980641 |38 ( 1-1/2" )| 18 | 245 | 44 19 195|142 | 31 28 (1-7/64") |34 (1-11/32") | 3.6 | 6.2 21 10 500
980642 |50 (1-31/32")| 27 | 25.0 | 60 25 | 250|195 | 41 | 35(1-3/8") |45(1-25/32") | 4.0 | 7.0 36 200

FOLDING RING PULL (SPRING LOADED)

980640

¢ Spring loaded-snaps flat to stay out of the way
when not in use.

* The pull is recessed into the mounting plate
keeping it flush with the mounting surface.

¢ Low profile design.

) 50 - 10 ¢ |deal for vibration or shock applications.
(1-31/32") 1 (25/64")

-

i

(1-172")
Iltem No. Weight (g) Box (pcs) Carton (pcs) Material Finish
980640 23 10 300 304 Stainless Steel Polished
www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



365

SUGATSUNE

FOLDING RING PULL

TO

I
>
¢ Folding handle provides ample grabbing room under =z
the handle for gloved hands. O
-
m
w
TO-70 Only N- o
Qde c
-
-
(7))
Qo
A
Z
o
vs)
7))
Without Spring
Item No. Material Finish
TO-70, TO-80, TO-90, TO-100 \ Without Spring Steel Yellow Zinc Chromate
Item No. L1 L2 Wi W2 H
TO-70 54 ( 2-1/8" ) 69 (2-23/32") 60 (2-23/64") 68 (2-43/64") 9
TO-80 Without 73 ( 2-7/8" ) 80 (3-5/32") 75 (2-61/64") 83 (3-17/64") 1
TO-90 Spring 75 (2-61/64") 91 (3-37/64") 82 (3-15/64") 90 (3-35/64") 12
TO-100 85 (3-11/32") 105 (4-9/64") 95 (3-47/64") 102 (4-1/64") 14
Item No. P4 P2 Ps oD+ od-2 N Weight (g) | Box (pcs) |Carton (pcs)
TO-70 - 49 (1-59/64") 34 (1-11/32") 6 4.7 3 60 460
TO-80 45 (1-49/64") 63 (2-31/64") 43 (1-11/16") 7 5.0 104 10 300
TO-90 48 (1-57/64") 69 (2-23/32") 47 (1-27/32") 8 5.5 4 135 240
TO-100 51 (2-1/64") 76 (2-63/64") 54 ( 2-1/8" ) 9 6.0 210 120

FOLDING RING PULL 3261, 3262 SERIES

¢ Surface mounted.
* | ow profile design

ST11Nd A3ISS3034d VO3 / ST1Nd ONIH ONIA104

3261500/SN
80 475 a6 02.8,04.8
(3-5/32") I (1-27/64")
27
= — T (1-1/16")
3262200/SN T t‘ © T T T
Al 4 g i L% 2
\ 83 P 71 |
= - &
o &
é))'
04.8,02.8
71
(2-51/64")
3261500/SN 3262200/SN
Item No. Weight (g) Box (pcs) Carton (pcs)
3261500/SN 49.3 o5 250 Material Finish
3262200/SN 26.0 600 Zinc Alloy Satin Nickel

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)

www.sugatsune.net



366

TRUNK HANDLES ggl\\In]R=Sa SV RECR. Y (0] 215

SUGATSUNE

STAINLESS M5x12
sie| B H=2] HCT-150

® 316 Stainless steel handle is ideal for harsh and highly corrosive
environments.

* The handle is recessed into the mounting plate keeping it flush with the
mounting surface.

¢ Spring loaded:
Folds and returns to flat position to stay out of the way when not in use.

¢ 90 degree stop feature.

¢ Back mounting.

TRUNK HANDLE

5y
% g Screw Bracket — :
R T S ‘
06 (S o |
88 [ T G
b j 5= T" l @ ‘
i Ry ‘
I i TeTs Thickness 0.5~3.2mm 146
_ | 1< } l (5-3/4”)
[32)
® Cut Out Dimensions
1 E/%M”)
= T, e
24
150 (5-29/32")—» 23
127 (5") —»f (29/32” ~—144 (5-43/64")—» i i i
10(25/64) ' 135 (5-5/16") Item No. |Load Capacity (kg)|Load Capacity (Ibs)\ Weight (g) | Box(pcs) |Carton(pcs)
(33/647) /@ | HCT-150 100 220 | 990 5 20
| f Y I N 7 - No. Part Name Material Finish
NE o B
i l é ‘I g Ha(::i)lle 316 Stainless Steel Mirror
4-M5 Depthi2 ® Bumper Ethylene Propylene Black
@ Spring . o
® Bracket 316 Stainless Steel Plain

TRUNK HANDLE

B E=] mub-140

¢ The handle is recessed into the mounting plate keeping it flush with the
mounting surface.
¢ Spring loaded:
Folds and returns to flat position to stay out of the way when not in use.
¢ 90 degree stop feature.
¢ Rubber pad on handle provides an easy and comfortable grip.
e Back mounting.

Screw 135
(5-5/16")
Bracket ‘ ~ [ ﬂ
140 0 174 I mg |
(5-33/64") s ~5 [
e 10 { & :
) - L 4
N N
8% Cut Out Dimensions
E——)
; M5x0.8 125 ltem No. Load Capacity (kg) | Weight (g) | Box (pcs) | Carton (pcs)
A Depth 10 (4-59/64")
. MUD-140 30 (66 Ibs 620 5 20
PO B —
No. Part Name Material Finish/Color
3l =1 ||l @ Body :
] ol 3
3 T @ Handle Zinc Alloy Chrome
¢ ¢ e Grip Synthetic Rubber Black
@ Back Case Steel
° A cross secton | ® Shaft Zinc Alloy
® Spring Yellow Zinc Chromate
@ Screw Steel
Bracket

www.sugatsune.net LAM p@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGATSUNE 367

TRUNK HANDLE TMU-115

* The handle is recessed into the mounting plate keeping it flush with the
mounting surface.
® Spring loaded:
Folds and returns to flat position to stay out of the way when not in use.
¢ 90 degree stop feature.
¢ Rubber pad on handle provides an easy and comfortable grip.
¢ Front and back mounting options.

@5.1,010.2

%ﬁ
L]
=,

16.5 =—
Y

T
>
Z
=]
r
m
L
o
(=
r
rr-
7
2o
X
Z
o)
W
77

(1-3/8")

le— 35—

100
(3-15/16")

Part Name Material Finish/Color
Body
Handle
Grip
Case Cover 1 Synthetic Rubber Black
Case Cover 2
Back Case
Shaft

Zinc Alloy Chrome

Steel Yellow Zinc Chromate

SITANVH MNNYl

Iltem No. Load Capacity (kg) Weight (g) Box (pcs) | Carton (pcs) Spring

elelslelelelelooF

TMU-115 40 (80 Ibs) 460 10 40 Screw

TRUNK HANDLE PT-148

¢ The handle is recessed into the mounting plate keeping it flush with the
mounting surface.
® Spring loaded:
Folds and returns to flat position to stay out of the way when not in use.
¢ 90 degree stop feature.
¢ Front and back mounting options.

119
(4-11/16")

i 04.4, 012
: Depth 0.5
148
(5-53/64")
132
103 Shanns

7N
2N

60—

/| 0 9000
- . s iﬁ D ks : i ==

79

—sa——

(2-23/64")
(3-35/64")

@ o) ® 0 | 4
4 i Qp
(4-21/64%) (4-23/32") A 2y @U— .
109 ° 17 A-A cross section 119
~ _ (4-11/16")
T No. Part Name Material Finish/Color
- . -
iew from 23 View from C ® Body Grey
Cut Out Dimensions Cut Out Dimensions @ Handle Zinc Alloy
for back mount for surface mount ® Shaft Plain
@ Spring .
teel Yellow Z h t
® Back Case Steel ‘ellow Zinc Chromate
Item No. Load Capacity (kg) Weight (g) Box (pcs) | Carton (pcs) ® Bumper Synthetic Rubber Clear
PT-148 50 (110 Ibs) 645 10 100 @ Screw Steel Chromate

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



368 SUGHTSUNE

KNOB He-] Cu-L-35

N
o
Satin finish .25 -—
e (63/64") 4'5; = R
X T Y IR
o3 2 =T It i
= = Bbpin 10
.| I
2
o 1 16—
i S
.|
(]
=z
% Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
CU-L-35 60 10 100 303 Stainless Steel Mirror and Satin Combination
(2}
8 @ ’ M4x30
) KNOB 5 1| RS-38
[COMPONENT] =
X

e Light weight design.

M4 x0.7

Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
RS-38/S 20 20 200 304 Stainless Steel Satin

KNOB RSS

¢ Light weight design.

M4 x 0.7
A M5 x 0.8
@ : F4 z‘z
Q ! E S}
Satin H
Material Finish
Mirrar 304 Stainless Steel | Mirror (M)/Satin (S)
Item No. A B D Weight (g) Box (pcs) Carton (pcs) Screw
RSS-25/M* | RSS-25/S* | 22 ( 55/64" ) 25 (63/64" ) 18 8.5 Ve
RSS-30/M* | RSS-30/S* | 23 ( 29/32" ) 30 (1-3/16" ) 20 11.0 o S
RSS-38/M RSS-38/S | 27 (1-1/16") 38 (1-1/2" ) 25 16.0 ——
RSS-50/M RSS-50/S | 34 (1-11/32") 50 (1-31/32") 35 30.0
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



SUGHTSUNE 369

KNOB [ (5] He=) EY-127

= I
>
<
O
-

230 (1-3/16") m
. w
=~ O
o
=
3 r
(7))
D R0
19 (3/4") P
Z
o
vs)
7))
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
EY-127/30 53 25 250 304 Stainless Steel Satin

KNOB “|  EY-207

STAINLESS

A
<
®)
W
7

211
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
EY-207 11 25 250 304 Stainless Steel Satin

KNOB

EY-301

oD
Item No. D L Box (pcs) | Carton (pcs)
EY-301/10 10 ( 3/8" ) 24 ( 15/16" )
EY-301/15 15 ( 9/16" ) 26 ( 1-1/32" )
EY-301/20 20 ( 3/4" ) 28 ( 1-1/8" ) 25 250
EY-301/25 25( 1" ) 30 ( 1-3/16" ) Material Finish
EY-301/30 30 (1-3/16") 28 ( 1-5/16" ) 304 Stainless Steel Satin

www.sugatsune.net LAMP@ 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



370

KNOB

SUGHTSUNE

’ Max25
Rolis STAINLESS |

917

23(29/32")

=

014 (35/64")

EY-320

(4 [e]:X8 HANDLES, PULLS & KNOBS

Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
EY-320 22 25 250 304 Stainless Steel Satin
’ Max25
KNOB He] EY-326
L
oD
Item No. D L Weight (g) Box (pcs) Carton (pcs)
EY-326/20 20 (25/32") 33.0(1-19/64") 62 o5 250 Material Finish
EY-326/25 25 (63/64") 35.5(1-25/64") 102 304 Stainless Steel Satin
’ Max25
KNOB Hee] EY-327
L
oD
Item No. D L Weight (g) Box (pcs) Carton (pcs)
EY-327/20 20 (25/32") 33.5 (1-21/64") 105 25 250 Material Finish
EY-327/25 25 (63/64") 35.0( 1-3/8" ) 125 304 Stainless Steel Satin
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



KNOB

SUGHTSUNE

compeant

M4x25
STAINLESS

371

EY-338

I
>
<
O
-
r m
w
O
Cc
o r
-
(7))
Qo
L A
Z
o
vs)
7))
Item No. D L Weight (g) Box (pcs) Carton (pcs) Material Finish
EY-338/20 20 (25/32") 26 (1-1/32") 40 . .
EY-338/25 25 (63/64") 32 (1-17/64") 75 25 250 304 Stainless Steel Satin
A
KNOB o “:] EY-339 &
Robis STAINLESS (3]
(/)]
9D
Item No. D L Weight (g) Box (pcs) Carton (pcs) Material Finish
EY-339/20 20 (25/32") 37.5(1-31/64") 125 . .
EY-339/25 25(63/64") | 41.5 (1-41/64") 226 25 250 304 Stainless Steel satin
, Mdx25
KNOB H--] ASERIES
M4 x 0.7
Depth 12
4hy *
T
a a
./ | i
{ i
-
le—H —
Material Finish
Aluminum Anodized
Item No. D1 H D2 t Weight (g) Box (pcs) Carton (pcs)
A-861 20 (25/32") 18.0 (45/64") 10 4.0 5.0
A-862 25 (63/64") 18.5 (47/64") 11 4.5 8.5 48 1152
A-863 30 (1-3/16") 12 15.0
19.0 ( 3/4" 5.0
A-864 35(1-3/8") ( ) 13 16.5 24 576

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)



SUGHTSUNE

372

PUSH KNOB PK-03

M3x20
STAINLESS

Truss head screw Cap
M3 x 20 039.5

\(LfIGA ")/

f<-19.8-+!
(25/32")

<25 —-‘
15 Door thickness
35 Door thickness

¢ Knob closes flush when pushed in and not in use.

¢ Press the knob to pop out and use it to open the door.
* For door thickness 15~20 mm. (19/32"~1")
e Can be used on thickness up to 35 mm (1-3/8") by

counter boring.

¢ Push knobs with latches available on pages 195~199.

|-040752

(Counterbore)

(2]
a1]
o
Z
X
o3
0
-l
J w
-} ] l»azaal ‘I‘ ~028'92 = o
n | Bore
N ‘D\oor surfac/e( 218, \ / 23
0 VLU F Material Finish/Color
I'_IIJ a1 Zinc Alloy Black Nickel (BN)/Chrome (CR)
(] BN CR ABS Black
E Item No. Finish Weight (g) Box (pcs) Carton (pcs) Door Thickness H (Counterbore)
T PK-03/CR Chrome 67 20 200 15-25 mm None
PK-03/BN Black Nickel 26 - 35 mm H=Door Thickness-25
(2}
@ Y
S KNOB KK-T
X
H ¢ Antibacterial coating on all finishes except
h black.
SBR
M4x0.7
BL /W
SNI g g
SSG \
Item No. Material Finish D D H h Weight (g) Box (pcs) | Carton (pcs)
KK-T24SNI Nickel + Antibacterial Coating
KK-T24SSG Satin Gold + Antibacterial Coating 24 16 23 15 10
KK-T24SBR Brown + Antibacterial Coating (15/16") (29/32") |
KK-T24BL Black
———————  Alumi Al 25 200
KK-T28SNI uminum Aoy Nickel + Antibacterial Coating
KK-T28SSG Satin Gold + Antibacterial Coating 28 20 26 20 20
KK-T28SBR Brown + Antibacterial Coating (1-3/32") (1-1/32") | =
KK-T28BL Black
Y
KNOB KK-B
H ¢ Antibacterial Coating.
1.5
M4 x 0.7
Depth12
SNI SSG SBR -
o) a
Q Q
Item No. Material Finish D D H Weight (g) Box (pcs) | Carton (pcs)
KK-B20SNI Nickel + Antibacterial Coating 0 o
Eﬁ-gzgzzg Saéln Gold ;;’?Eﬁlb?ctgzlacl Cc:gtlng (25/32") 13 (1-1/32") 10
= . rown + Antibacterial Coating
————— Al Al 25 200
KK-B25SNI uminum Aoy Nickel + Antibacterial Coating 25 %
KK-B25SSG Satin Gold + Ahtlbactgrlal Cogtlng (63/64") 16 (1-3/16Y) 25
KK-B25SBR Brown + Antibacterial Coating

www.sugatsune.net

LAMBP.

by SUGATSUNE

1-888-557-5267 (u:s.A. only)



SUGATSUNE 373

HATCH PULL ST-90, 115

o
>
* The handle is concealed when not in use to stay out of the way. =z
* T-handle design O
® ST-90 is RoHS compliant. -
m
w
U
TOP CcC
J
B —»f e Hi >l [ H——» r-
8 ‘4_, Hz r-
@ (7))
L %
I A
ap : 5
TL ?——J ‘i: I} 8
4 0 3 5 ; 3 —— F=—f— &
I Nl b
i 1
1
04.5,07.5 T
>
) -
(@)
-
ltem No. L L L[] H | Hi | H | J B B | t © g
ST-90 90 (3-35/64") | 66.2 (2-39/64") | 30.2 |57 | 35.5| 23.2| 10.5 |2.2| 22 (55/64") | 18.5| 3.8 | 80 (3-5/32") Material Finish -
ST-115 |115 (4-17/32") | 86.2 (3-25/64") | 40.0 |67 | 42.0| 26.0| 13.0 |2.5|25 (63/64") | 20.0 | 4.0 | 102 (4-1/64") 304 Stainless Steel Satin -
(7))
Item No. Weight (g) Box (pcs) Carton (pcs) Screw
ST-90 68 30 300 3.5x22
ST-115 102 20 200 3.5x25

HATCH PULL 4 sT-80, 100

STAINLESS

¢ The handle is concealed when not in use to stay out of the way.
¢ Hook design

@
\

\ e NS
\pa ol
=
Q 1 °
04.5,07.5
! ¥
F:
¥ v
Item No. L L L2 H H1 H2 B B t C
ST-80 80 ( 3-9/64" ) 50 (1-31/32") | 44 18 | 25 5 18 (45/64") 15 | 5 68 (2-43/64") Material Finish
ST-100 100 (3-15/16") 63 (2-31/64") 54 21 32 20 (25/32") 85 (3-11/32") 304 Stainless Steel Satin
ltem No. Weight (g) Box (pcs) Carton (pcs) Screw
ST-80 48 30 300 3.5x16
ST-100 66 20 200 3.5x20
www.sugatsune.net l-AMp® 1-888-557-5267 (U.S.A. Only)

by SUGATSUNE



374

SUGATSUNE

HATCH PULL

TEST Y
HR

¢ The handle is concealed when not in use to stay out of the way.

N
a1]
(@)
Z
X
o3 3
~—E— g
@ ‘
= ©
= S
o i
(2}
H L L1 c
(]
Z L
<
e ©
(77}
-l
|
2
o Item No. L L1 C H D A E F G
HR-90 90 (3-35/64") | 52 (2-3/64") | 76 (2-63/64")| 32 (1-17/64") | 36 (1-27/64")
1. 24 (15/16") | 12.0 | 11
5 HR-110 | 110 (4-21/64") | 64 (2-33/64") | 94 (3-45/64")| 38 ( 1-1/2" ) | 42 (1-21/32") 0 (15/16%) 0 Material Finish
= HR-135 | 135 (5-5/16") | 90 (3-35/64") | 115 (4-17/32") | 50 (1-31/32") | 55 (2-11/64") | 1.2 | 25 (63/64") | 12.2 |12 304 Stainless Steel Satin
<
T Item No. Load Capacity (kg) Weight (g) Box (pcs) Carton (pcs) Screw
HR-90 13.0 (28 Ibs) 49 30 300 3.5x22
HR-11 !
0 10.0 (22 Ibs) 59 20 200 3.5 95
HR-135 7.5 (16.5 Ibs) 88 15 150
3.5x22
HATCH PULL &) H==] HR-R
* The handle is concealed when not in use to stay out of the way.
A
v
4.5 f——D—
i e—H—
f—24 — 1.5+ 1
| ® (1/16"
~
<12
Jo3 {/1 —
) =]
<
L View from arrow A
ﬁ% _
Material Finish
304 Stainless Steel Satin
Item No. L L2 (¢} H D Load Capacity (kg) | Weight (g) | Box (pcs) | Carton (pcs)
HR-90R 90 (3-35/64") | 52 (2-3/64") | 76 (2-63/64") | 32 (1-17/64") | 36 (1-27/64") 13 (28 Ibs) 46 30 300
HR-110R  [110 (4-21/64") | 64 (2-33/64") | 94 (3-45/64") | 38 ( 1-1/2" )| 42 (1-21/32") 10 (22 Ibs) 55 20 200

LAMBP.

by SUGATSUNE

1-888-557-5267 (U.s.A. only)

www.sugatsune.net



	309
	310
	311
	312
	313
	314
	315
	316
	317
	318
	319
	320
	322
	323
	324
	325
	326
	327
	328
	329
	330
	331
	332
	333
	335
	336
	337
	338
	341
	342
	343
	345
	346
	347
	348
	349
	350
	351
	352
	353
	354
	355
	356
	357
	358
	359
	360
	361
	364
	365
	366
	367
	368
	369
	370
	371
	372
	373
	374

